Government of West Bengal, Office of the Executive Engineer

Kaliaghai Kapaleswari Baghai Project Division

Temathani, (Sabang), Paschim Medinipore.

NOTICE INVITING TENDER NO.-WBIW/EE/KKBPD/NIT-05/2017-18

1. Sealed and Separate tenders in specified tender forms are invited by the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, I & W. Dte., Temathani, (Sabang), Paschim Medinipur for the works mentioned in the annexed list, from the eligible Contractors of as mentioned in the said Annexure. The Contract Documents can be seen / collected at the office of the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, I. & W. Dte. Temathani (Sabang), Paschim Medinipur between the hours of 11-00 A.M. to 4-00 P.M. on all working days as well as can be downloaded from http://wbiwd.gov.in/index.php/applications/tenders

2. Eligibility of Contractors:

The contractors will have to submit documentary evidences of technical credentials as to their eligibility to participate in the tender.

The intending contractors should have completed within stipulated time at least 1 (one) similar type/nature of work with minimum credential of 30% (Thirty percent) of the amount put to tender in a single tender executed during any one of the proceeding 5 (five) years.

Payment certificate / completion certificate issued by the competent authority not below the rank of Executive Engineer will normally be accepted as valid credential.

3. Application for issue of Tender Form:

- A. Applications for issuing of tender forms are to be made to the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, I & W Dte., Temathani (Sabang), Paschim Medinipur. Application is to be made in the Applicant's letter-head in prescribed proforma attached herewith, failing which application will be treated as incomplete and void.
- B. Each application for Issue of tender form is to be accompanied by attested Xerox copies of the following: -
- i) PAN Card, Income Tax and Professional Tax clearance certificate from appropriate authority valid beyond the date of opening of Tender.
- ii) Technical Credential
- iii) Partnership Deed in case of Partnership Firm
- iv) Registration papers, current audit report, (at least up to the 2nd last years proceeding the current one), copy of Byelaws, No Objection Certificate of A.R.C.S. in case of Registered Engineers Co-operatives.
- v) Statement showing similar nature of works successfully completed during last five years.
- vi) Valid15-digit Goods and Services Taxpayer identification Number (GSTIN) under GST Act, 2017
- C. Original documents, if desired, will have to be produced for verification.
- D. Following cases will also be taken in to consideration in time of acceptance of application for issuance of tender paper
- i) Tender Paper dropped without draft of EMD for instant case or one or more previous occasions by the same applicant contractor.
- ii) Work Order issued against any previous work in the name of applicant Contractor, but not started by the contractor in time or not complete the same within justified extended time allotted by the competent authority or any previous work of applicant Contractor terminated as per Memorandum of Clause of Contract.

4. Effective Management of Work Site

Being contractor he must attend site at the execution spot for holding progress and other problem on few occasion, whenever demanded by the Engineer-in-charge. If any agency depends solely on authorized agent and completely avoid personal appearance, his performance will not be considered eligible for accepting the application for issuance of tender Paper next time.

5. Acceptance of Application for Tender Forms:

All the applications for issue of Tender Forms received by the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, I & W Dte., Temathani (Sabang), Paschim Medinipur will be considered subject to the fulfillment of criterions as per clause 2, 3& 4 above. The decision of the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, I & W Dte., Temathani (Sabang), Paschim Medinipur will stand final. Financial Evaluation will be done only for those applicants whose application for issue of tender form will be accepted by the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division

6. **Dropping of Tenders**:

Tenders in sealed covers as mentioned herein below are to be dropped in the office of the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, I & W Dte., Temathani (Sabang), Paschim Medinipur on the date specified in the Annexure.

Tender documents for each work will be prepared in sealed covers as follows. All thedocuments as mentioned in Para 3 A & 3 B above, Earnest Money Draft and one sealed cover labeled "Tender Documents of Sl. No. of NIT No." will be placed in a sealed outer cover and labeled distinctly & correctly. The inner cover labeled "Tender Documents of

Sl. No. of NIT No. " should contain NIT documents, 2911ii, the schedule of work, corrigendum, if any containing signature of the applicant in each page as a token of acceptance along with quoted rate at specified place.

7. Opening of Tenders:

The tenders will be opened as the manner stated herein below at the scheduled time as mentioned in Annexure, by the Executive Engineer, -Kapaleswari-Baghai Project Division, I & W Dte., Temathani (Sabang), Paschim Medinipur in his office, in the presence of the tenderers or their duly authorized representatives. No subsequent objections whatsoever, raised by any participant, not present during the opening of tenders will be entertained.

Outer sealed cover will be opened first for evaluation of eligibility. If and only if the application for issuance of tender paper is accepted by the Executive Engineer, K.K.B. Project Division then only inner sealed cover labeled "Tender Documents of Sl. No. of NIT No." will be opened and evaluated otherwise it will not be opened at all and EMD will be released.

9. Earnest Money:

Each Tenderer will have to deposit earnest money (EMD) of the amount specified in the annexure list of works in the following forms: -

- i) Earnest money deposited in S.B.I or any Nationalized Bank in the shape of Bank Draft / D.C.R. in favour of the **Executive Engineer**, K.K.B. Project Division, I.&W.D. payable at Kharagpur will be valid for the purpose. The original document must be affixed with the Application.
- ii) No cheque or cash money will be accepted as Earnest Money.
- iv) Earnest Money in the shape of N.S.C, K.V.P, and N.S.S. will not be accepted.
- v) Adjustment of Earnest money with previous deposit if any can not be entertained in any case.
- vi) Contractors should have to deposit 2.00% (Two point zero percent) of amount put to tender as stated in the list of works during dropping of tender forms and additional securityshall be deducted from the progressive bills at 8% or such amount from each such bill, so that the total deduction together with the 2% EMD constitutes 10% of the tendered value of work as actually done.

<u>vii)</u> Security Money:

In respect of successful tenders, the deposited earnest money 2.00% (Two point zero percent) of the amount put to tender will be converted as a part of Security Deposit and an additional security @ 8% (eight percent) of the work value as per accepted rate will be deducted from the progressive bills. All Contractors will be treated as outsider Contractor and deduction of security deposit will be followed as above.

- 10. Quoting bid below 20% of the estimated amount put to tender(Tender value) is not desirable, as it leads to a doubt regarding the intension of the bidder to deliver good quality work on due time. Additional Performance Security as Bank Guarantee shall be obtained in specimen Form-6 (attached herewith) from any RBI approved Indian Bank located in West Bengal only, if the lowest bid is below 20% of the amount put to tender in addition to EMD and Security Deposit. (I&WD No. 09-W/2017-18 dated 20.07.2017 may be referred in the order link of wbiwd.gov.in) Authenticity of BG would be verified from the issuing bank during evaluation stage of tender by Tender Evaluation Committee (TEC)
- 10. The Tenderer should quote his rates both in figures as well as in words in terms of over all percentage ABOVE / BELOW / AT PAR the schedule of rates shown in the schedule of items of works.
- 11. The Tenderer should sign in each page of the tender documents and should write his name and full address in the blank space of last page of the tender forms.
- 12. The tender with overwriting, illegible writing, erasing and incomplete or conditional one are liable to rejection.
- 13. In the event of tender being submitted by a Partnership Firm it must be signed by each of the partners of the firm or a Power of Attorney holder, as stipulated in the Indian Partnership Act.
- 14. All the tenders in which any one of the prescribed conditions is not fulfilled will be rejected.
- 15. All the working tools and plants are to be arranged and supplied by the contractor entrusted with the work.
- 16. Acceptance of the tender will rest with the Executive Engineer, K. K. B. Project Division, I & W Dte., Temathani, Sabang, Paschim Medinipur, who does not bind himself to accept the lowest tender and reserves the right to reject any or all the tenders received without assigning any reason.
- 17. In case of any nonscheduled Holiday/ Bundh/Strike in the aforesaid dates the next working will be treated as the scheduled date for that purpose.
- 18. Payment against bills raised by the contractor

Periodic Tax invoice/bills containing bidders GSTIN & other details needs to be submitted by the supplier/contractor/Agency/bidder to the DDO for raising claims for receiving payments of work executed under this contract /upon achieving physical Milestones the Tax charged in accordance with the provisions of the GST Act, 2017.

The payment of Running Account as well as final bill for any work based on progress and performance will be made according to availability of fund and no claim due to delay in payment will be entertained.

- 19. No cost escalation in any form is included in the Tender Contract Agreement
- 20. Taxes & duties to be borne by the Contractor/bidder

In view of introduction of GST with effect from 01.7.2017, all the bidders intending to participate in this e-tender should

offer their financial bids inclusive of GST applicable for entire composite works/Procurement of goods & services, labour intensive component contained in the BOQ. Income Tax, Royalty, GST (CGST, SGST, IGST), Construction Workers' Welfare Cess, Labour Insurances and similar other statutory levy / cess will have to be borne by the contractor/bidder and his/her quoted rate should be quoted accordingly after considering all these charges, and no separate payment towards any of the statutory taxes shall be made by the implementing authority.

21. Site inspection prior to submission of tender

Before submitting a e-tender, the intending contractor/bidder should make themselves acquainted thoroughly with the local conditions prevailing at site of implementation of the work by undertaking field inspections and taking into consideration all probable factors and difficulties to be involved during execution of the work as per specification in all respects including transportation of materials, communication facilities, climate conditions, nature of soil, availability of local labourers and market rates prevailing in the locality etc. and no claim whatsoever will be entertained on those accounts afterwards. The contractor/bidder may also contact the office of the designated Assistant Engineer/Executive Engineer, K.K.B. Project Division in between 11.30 hours to 16.30 hours on any working day, prior to the date of last date for submission of bid in the e-tender.

Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, Temathani, (Sabang), Paschim Medinipur

ADDITIONAL TERMS & CONDITION (TO FORM A PART OF THE TENDER DOCUMENT) Additional Terms & Conditions

- 1. The Executive Engineer of the concerned Division shall be the Engineer-in-Charge in respect of the works contract and all correspondence concerning rates, claims, change in specifications and/or design and similar important matters will be valid only if accepted/recommended by the Engineer-in-Charge. If any correspondence of above tender is made with Officers other than the Engineer-in-charge for speedy execution of works, the same will not be valid unless copies are sent to the Engineer-in-Charge and also approved by him/her. Instructions given by the Sub-Divisional Officer/Assistant Engineer and the Junior Engineer/Section Officer (SO) on behalf of the Engineer-in-Charge shall also be valid (who have been authorized to carry out the work on behalf of the Engineer-in-Charge) regarding specification, supervision, approval of materials and workmanship. In case of dispute relating to specifications and work, the decision of Engineer-in-Charge shall be final and binding. The Engineer-in-Charge will however take all decisions relating to works contract only after recommendation/ advice of the Tender Accepting Authority. If there is more than the Executive Engineer assigned for the tender, the Chief Engineer would designate the Engineer-in-Charge for the work.
- 2. Acceptance of the tender including the right to distribute the work between two or amongst more than two bidders with same L1 rates will rest with the Tender Accepting Authority without assigning reason thereof to any of the bidders. The tender accepting authority reserves the right to reject any or all tenders without assigning sufficient justification thereof to the bidder/contractor. No additional or excess work or additional items of work beyond the tendered amount would be generally allowed. All excess, supplementary or substitute supplementary items of work, if unavoidable are to be accepted by the Tender Accepting Authority only if the total value of work on completion is within the tendered amount. The exiting contract would be terminated after achieving work up to tendered cost (gross value) and balance work would be taken up afresh after fresh sanction and new tender, except in the interest of public services, in rare & special cases under specific approval of the Government.
- 3. The Contractor/bidder shall have to comply with the provisions of (a) Contract Labour (Regulation & Abolition) Rules, 1970 including its revisions (b) Minimum Wages Act 1948 and the modification thereof or any other laws relating thereto as will be in force from time to time.
- 4. Engineer-in-Charge shall not entertain any claim whatsoever from the contractor for payment of compensation on account of idle labour on such grounds including non-possession of encumbrance free land. Escalation of cost due to inflationary effects or any other reason is not permitted during construction period or extended time period of contract.
- 5. Engineer-in-Charge shall not be held liable for any compensation due to machines & equipments becoming idle or any circumstances including untimely rains, other natural calamities, strikes etc.
- 6. All statutory taxes, viz. GST / labour welfare cess, labour insurance etc or revision of taxation rates even after AOC or commencement and before final completion of the work are to be borne by the contractor/bidder. Original tax invoice/challan or bill of those materials, which are procured by the bidder, may be asked to be submitted for verification if required.
- 7. Labour Welfare Cess @ 1% of the cost of construction works shall be deducted from the Gross value of all works bills. Also it is instructed to compulsorily register his/her establishment under the Act, under the competent registering authority, i.e. Assistant Labour Commissioner / Dy. Labour Commissioner of the region for disbursing PF and ESI benefits of workers. The bidder should be mandatorily be registered online with Employees Provident Fund Organisation (EPFO) in the on-line system and posses EPF code and all current documents. Penalties and complaints due to non compliance of on-line EPF registration and default is the full responsibility of the bidder even if the TIA is by default the Principal employer
- 8. No mobilization / secured advance will be allowed unless specified otherwise in the contract or the e-Notice Inviting Tender.

- 9. GST, Cess, License fees, Royalty for construction materials, forest product etc, Toll Tax, Income Tax, Ferry Charges and other Statutory Government Taxes as applicable during project implementation are to be paid by the contractor/bidder. The rates of supply and finished work items are inclusive of these taxes and levy. Tax invoice/bills needs to be submitted by the supplier/bidder for raising claims under the contract after attaining of physical milestones showing separately the tax charged in accordance with the provisions of GST Act, 2017.
- 10. All working tools & plants, scaffolding, construction of vats & platforms and arrangement of Labour Camps will have to be arranged by the contractor at his/her own cost. The contractor shall clear the site of work and restore all damages made due to the Labour camp, erection of yards and godowns, stores etc within 30 days of completion of work.
- 11. The contractor shall supply mazdoors, bamboos, ropes, pegs, flags T&P, Machineries and equipments etc. for laying out the work and for taking and checking measurements for which no extra payment will be made.
- 12. The contractor/bidder should see the site of works and tender documents, drawings etc. before submitting tender and satisfy himself/herself regarding the condition and nature of works and ascertain difficulties that might be encountered in executing the work, carrying materials to the site of work, availability of drinking water and other human requirements & security etc. Work on river banks may be interrupted due to a number of unforeseen reasons e.g. sudden rise in water levels, inundation during flood, inaccessibility of working site for carriage of materials. Engineer-in Charge may order the contractor to suspend work that may be subjected to damage by climate conditions. No claim will be entertained on this account. There may be variation in alignment, height of embankment or depth of cutting, location of revetment, structures etc. due to change of topography, river condition and local requirements etc. between the preparation and execution of the scheme for which the tendered rate and contract will not stand invalid. The contractor will not be entitled to any claim or extra rate on any of these accounts.
- 13. A machine page numbered Site Order book (with triplicate copy) will have to be maintained at site by the contractor and the same has got to be issued from the Engineer-in-Charge before commencement of work. Instructions given by inspecting officers not below the rank of Assistant Engineer will be recorded in this book and the contractor must note down the action to be taken by him in this connection as quickly as possible.
- 14. The contractor shall be bound to comply with all the Central & State Pollution Control Acts & Rules during entire construction period.
- 15. All possible precautions should be taken for the safety of the people and work force deployed at worksite as per safety rule in force. Contractor will remain responsible for his labour in respect of his liabilities under the Workmen's Compensation Act etc. He must deal with such cases as promptly as possible. Proper road signs as per P.W.D. practice will have to be erected by the contractor at his own cost while operating public thoroughfares. Also, display boards containing brief description and name of project with completion target dates shall be erected at a prominent location at the work site by the contractor for public awareness.
- 16. The contractor will have to maintain qualified technical employees and/or Apprentices at site as per prevailing Apprentice Act or as stipulated in the contract. No compensation for establishment charge will be entertained.
- 17. The contractor will have to accept the work programme as per modifications and priority of work fixed by the Engineer-in-Charge so that most vulnerable reach and/or vulnerable stretch is completed before impending monsoon or rise in river flood water level or commencement of canal irrigation water release or for other suitable reasons.
- 18. Quantities of different items of work mentioned in the departmental tender schedule/BOQ or in work order are only tentative. In actual work, these may vary considerably. Payment will be made on the basis

of works actually completed in different items as per specifications and codes, and no additional claim will be entertained for reduction of quantities in some items or for omission of some items. For execution of any additional item or supplementary works within the tendered value with the total completion value remaining within the accepted tendered cost, approval of the Tender Accepting Authority/Government in the Irrigation & Waterways Department would be required.

- 19. In order to cope with the present system of e-pradan billing, departmental supply of construction materials is discouraged. However, Departmental materials may be issued to the contractor/ bidder to the extent of requirements as assessed and following accounts procedure in the Treasury system of bill payment and in installments as decided by the Engineer-in-Charge. Issue of materials may be of three categories.
 - a) Materials issued directly to the work and subject to recovery.
 - b) Materials issued from departmental go down and subject to recovery.
 - c) Materials issued free of cost.

Decision of the Engineer-in-Charge should be final and binding in this regard. He also stands solely responsible for reconciliation of accounts, if materials are issued to the contractor.

- 20. Any materials brought to site by the contractor subject to approval of the Engineer-in-Charge. The rejected materials must be removed by the contractor from the site at his own cost within 48 hours of issue of the order to that effect. The rates in the schedule are inclusive of cost and carriage of all materials to worksite. The materials will have to be supplied in phase with due intimation to the Sub-Divisional Officer/Assistant Engineer concerned in conformity with the progress of the work. For special type of materials, i.e. Geo Synthetic Bags, HDPE Bags, Geo Textile Filter, Geo jute Filter etc. if any, relevant Data Sheet containing the name of the Manufacturers, Test Report etc. will also be submitted in each occasion. Engineer-in-Charge may conduct independent test on the samples drawn randomly before according approval for using the materials at site. In this regard decision of Engineer-in-Charge shall be final and binding.
- 21. For materials under category 19(a),(b)&(c), the contractor will act as the custodian thereof. The materials will have to be carried from the nearest Departmental go-down to worksite by the contractor at his own cost. The contractor shall remain responsible for the proper storage and safety of the materials. Suitable Go-down/ Store shall have to be made by the contractor at his/her own cost. Penalty charges shall be levied at higher rate for loss, wastage, misuse. Surplus materials of the departmental if any, shall have to be returned to the issuing Go-down or store at the contractor's cost within the time frame as fixed by Engineer-in-Charge, otherwise, the cost at penal rate will be recovered from the bill. Indent for departmental materials shall be submitted by the contractor to the AE/S.D.O. at least 7 days in advance of actual requirement. No claim will be entertained for non-issuance of such materials in time but reasonable extension of time will be granted. All materials, whatever be the category thereof, shall be properly stored by the contractor in suitable go downs near the site of work at his own cost & under no circumstances whatsoever shall any material be removed from the site of work without prior written permission of the Engineer-in-Charge. The contractor shall be responsible for any damage, wastage or loss of such materials.
- 22. The contractor shall also have to satisfy the Engineer-in-Charge regarding the proper utilization of materials which have been issued departmentally.
- 23. Value of the material, under category (a) & (b) of clause 19, will be recovered from the bills of the contractor in one or successive installments as may be decided by the Engineer-in-Charge.
- 24. Requisite quantity of cement as may be required for the work will be supplied from the nearest Departmental go down if stock permits. The issue rate of cement is shown in the Schedule of materials attached. Any excess consumption of cement by more than 5% over the final consumption statement drawn up as per consumption rate specified in the Schedule will be recovered at a penal rate shown in schedule.

25. Reinforcement steel rods/MS sheet piles/bitumen will be issued when stock permits, from the nearest departmental go-down where such material is available in marketable length/quantities. While issuing the same, for any particular work the quantity actually required as per approved drawing shall only be issued. While executing the work, it will be responsibility of the Contractor/bidder as well as the Engineer-in-Charge to get this quantity properly utilized in the work. Cut pieces, if any will not be taken back by the Department. Recovery for the total quantum of steel issued will be made at the issue rate shown in the Schedule below. In case of misuse over +10%, deduction will be made at a penal rate shown in the Schedule below. This whole principle shall apply in case of other M.S materials like sheet piles and structural steel members as well.

26. SCHEDULE OF MATERIALS TO BE SUPPLIED DEPARTMENTALLY AND THEIR RECOVERY RATES

SI. No	Name of materials	Issue rate (in `)	Unit	Penalty recovery rate for loss or misuse or wastage (if otherwise not mentioned specifically in the SoR)	Place of delivery
01	Cement		MT	2 (Two) times issue	Departmental
01	Cernent	Lement IVI		rate	Godown
02	Reinforce- ment steel rods, structural steel members, M.S sheet Piles	eteel s, ural el ers, eet		2 (Two) times issue rate	-do-
03	Bitumen		MT	2(Two) times issue rate	-do-

Executive Engineer
K.K.B. Project Division,
Irrigation & Waterways Directorate

Memo No. :567 E Date:08/09/2017

Copy for information & wide Circulation to the:-

- 1. Chief Engineer, South-West I & W Dte.Khas jungle, Abash, Paschim Midnapore.
- 2. Superintending Engineer, Western Circle, II, I & W Dte. Midnapore, Paschim Medinipur.
- 3. Sabhadhipati, Paschim Medinipur Zilla Parishad, Midnapore.
- 4. Sabhadhipati, Purba Medinipur Zilla Parishad, Tamluk, Purba Medinipur.
- 5. Executive Engineer, East Midnapur Division, I & W Dte. Tamluk, Purba Medinipur.
- 6. Executive Engineer, Contai Irrigation Division. I &W. Dte. Contai, Purba Medinipur.
- 7. Executive Engineer, West Midnapore Division. I &W. Dte. Midnapore, Paschim Medinipur.
- 8. Executive Engineer, Kangsabati Canal Division No.- IV, I &W.Dte., Midnapore, Paschim Medinipur.
- 9. Sub- Divisional Officer. /K.K.B Project Sub Division-I, I&W. Dte. Temathani (Sabang), Paschim Medinipur.
- 10. Sub- Divisional Officer. /K.K.B Project Sub Division-II, I&W. Dte. Sabang, Paschim Medinipur.
- 11. Sub-Divisional Officer. /K.K.B Project Sub Division-III, I&W. Dte. Sabang, Paschim Medinipur. .
- 12. Secretary, Midnapore Sadar/ Contai/ Ghatal/ Jhargram/ Khargapur Sub- Divisional contractors' Association.
- 13. Secretary, Association of Paschim Medinipur Engineers' Co-operative societies Ltd, Midnapore, Paschim Medinipur.
- 14. Office Notice Board/ Divisional Accounts Officer / Estimating Section /Hd. Clerk / Cash Section of Kaliaghai Kapaleswari Baghai Project Division.

Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, Temathani, (Sabang), Paschim Medinipur

LIST OF WORKS FOR NOTICE INVITING TENDER NO- WBIW/EE/KKBPD/NIT-05/2017-18 OF KALIAGHAI KAPALESWARI BAGHAI PROJECT DIVISION (I & W Dte) WITH ADDITIONAL TERMS AND CONDITIONS (TO FROM A PART OF THE TENDER DOCUMENTS).

Sl.No	Name of Work	Amount put to tender (In Rs.)	Earnest Money	Time allowed for completion	Contractors eligibility for participation
1	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 1.500Km due to heavy rainfall during July' 2017 at Mouza- Kesiabheri, Block: Sabang, Dist. Paschim Medinipur	361707.00	₹ 7,234.00	30 (thirty) days	Bonafied outsider having similar credential.
2	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River in between Ch. 1.600Km to 1.750Km due to heavy rainfall during July' 2017 at Mouza- Kesiabheri, Block: Sabang, Dist. Paschim Medinipur	262101.00	₹ 5,242.00	30 (thirty) days	Bonafied outsider having similar credential.
3	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 1.850Km due to heavy rainfall during July' 2017 at Mouza- Kesiabheri, Block: Sabang, Dist. Paschim Medinipur	241794.00	₹ 4,836.00	30 (thirty) days	Bonafied outsider having similar credential.
4	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 1.900Km due to heavy rainfall during July' 2017 at Mouza- Kesiabheri, Block: Sabang, Dist. Paschim Medinipur	248356.00	₹ 4,967.00	30 (thirty) days	Bonafied outsider having similar credential.
5	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.35Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur	320127.00	₹ 6,403.00	30 (thirty) days	Bonafied outsider having similar credential.
6	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.450Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur	325821.00	₹ 6,516.00	30 (thirty) days	Bonafied outsider having similar credential.
7	Restoration of Side Slip at C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.950Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur	302191.00	₹ 6,044.00	30 (thirty) days	Bonafied outsider having similar credential.
8	Restoration of Side Slip at C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.100Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur	313576.00	₹ 6,272.00	30 (thirty) days	Bonafied outsider having similar credential.
9	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.300Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur	152075.00	₹ 3,042.00	30 (thirty) days	Bonafied outsider having similar credential.
10	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River in between Ch. 3.350Km to 3.480Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur	241794.00	₹ 4,836.00	30 (thirty) days	Bonafied outsider having similar credential.
11	Restoration of Side Slip at R/S & C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.500Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur	307883.00	₹ 6,158.00	30 (thirty) days	Bonafied outsider having similar credential.
12	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.800Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur	200215.00	₹ 4,004.00	30 (thirty) days	Bonafied outsider having similar credential.

13	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 4.300Km due to heavy rainfall during July' 2017 at Mouza- Ramchak, Block: Sabang, Dist. Paschim Medinipur	254049.00	₹ 5,081.00	30 (thirty) days	Bonafied outsider having similar credential.
14	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 4.600Km due to heavy rainfall during July' 2017 at Mouza- Ramchak, Block: Sabang, Dist. Paschim Medinipur	259742.00	₹ 5,195.00	30 (thirty) days	Bonafied outsider having similar credential.
15	Restoration of Side Slip at R/S & C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 5.150Km due to heavy rainfall during July' 2017 at Mouza- Ramchak, Block: Sabang, Dist. Paschim Medinipur	331513.00	₹ 6,630.00	30 (thirty) days	Bonafied outsider having similar credential.
16	Restoration of Side Slip repair of L/B of Sundarpur Khal from Ch. 0 Km to 0.75Km due to heavy rainfall during July' 2017at Mouza-Chaulkuri, Block: Sabang, Dist. Paschim Medinipur	465230.00	₹ 9,305.00	30 (thirty) days	Bonafied outsider having similar credential.
17	Restoration of Side Slip repair of L/B of River Kaliaghai at near Ch. 17.600 Km due to heavy rainfall during July' 2017at Mouza-Duria, Block: Narayangarh, Dist. Paschim Medinipur	111676.00	₹ 2,234.00	30 (thirty) days	Bonafied outsider having similar credential.
18	Restoration of Side Slip repair of L/B of Kharika Khal at near Ch. 1.400 Km due to heavy rainfall during July' 2017at Mouza-Paraspur, Block: Sabang, Dist. Paschim Medinipur	450854.00	₹ 9,017.00	30 (thirty) days	Bonafied outsider having similar credential.
19	Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.300 Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah,Block: Sabang, Dist. Paschim Medinipur	212472.00	₹ 4,249.00	30 (thirty) days	Bonafied outsider having similar credential.

Executive Engineer,
Kaliaghai Kapaleswari Baghai Project Division.
Temathani, Paschim Medinipur

TIME SCHEDULE OFNOTICE INVITING TENDER NO-WBIW/EE/KKBPD/NIT-05/2017-18OF KALIAGHAI KAPALESWARI BAGHAI PROJECT DIVISION (I & W Dte)

a	Date, time and Place for Dropping Tender Forms	15-09-2017	Up to 13.00 Hours	Office of the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, Temathani (Sabang), Paschim Medinipur
ь	Date, time and Place for Opening Tender Forms	15-09-2017	After 13.30 Hours	Office of the Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division, Temathani (Sabang), Paschim Medinipur

N.B: Original copies of all attested copies which one enclosed with the application should be produced for verification on demand. Payment will be made as per availability of fund of K. K. B. Project Division.

Ship

Executive Engineer, Kaliaghai Kapaleswari Baghai Project Division. Temathani, Paschim Medinipur

APPLICATION FOR TENDER

The Executive Engineer K.K.B. ProjectDivision	
Tender No:- WBIW/EE/KKBPD/NIT-05/2017-18	
Serial No of Work applied for :	
Amount put to Tender :Rs(Tender Value)	•••••
Dear Sir,	
Having examined the NIT documents, I/we here your conditions and offer to execute the works as per agree to remedy the defects after/during execution of the contract, specifications, drawings, bill of quantities and	the above work in conformity with the conditions of
Dated this day of 201	7
Full name of Bidder / Contractor:	
Signature:	
In the capacity of:	_
Duly authorized to sign bids for& on behalf of (Name of Firm):(In block Capital letters or typed)	
Office address with seal if any:	
Telephone no(s) (office):	
Mobile No:	
Fax No:	
E mail ID:	

FORM-6* SPECIMEN FORMAT FOR THE BANK GUARNATEE FOR ADDITIOANAL PERFORMANCE SECURITY DEPOSIT

(*To be submitted if the bid price quoted by the bidder is below 20% of the estimated cost put to tender otherwise the tender will be treated as invalid and rejected)

To,

(Designat	tion of Engineer-in-Charge)
(Office ac	ddress of Engineer-in-Charge)
Contractor") has undertaken, in pursuance of (name of Contract and brief description of W AND WHEREAS it has been stipulated by you furnish you with a Bank Guarantee by a Sch	
AND WHEREAS we (Indicate to give the Contractor such a Bank Guarantee	the name of the bank and branch) have agreed ::
affirm that we are the Guarantor and respontotal of Rs. (amount of undertake to pay you, upon your first writter within the limits of (amount of g prove or to show grounds or reasons for your We (Indicate the name of the	(Indicate the name of bank and branch) hereby sible to you on behalf of the Contractor, upto a f guarantee) (in words). We demand and without cavil or argument, a sum uarantee) as aforesaid without your needing to demand for the sum specified therein. He bank and branch) hereby waive the necessity ne contractor before presenting us with the
any money so demanded not withstand contractor(s) in any suit or proceeding pethereto, our liability under this present absolute payment/so made by us under this bor	te bank and branch) further agree to pay to you ing any dispute or disputes raised by the ending before any court or Tribunal relating ute and unequivocal. Indicate the discharge of our liability for shall have no claim against us for making such
change or addition to or other modification be performed there under or of any of t between you and the contractor shall in arguarantee, and we hereby waive notice of an	f the bank and branch) lastly undertake not to

This guarantee sheffect and shall rwork under the shotwithstanding, to Rs (Rs. validity period, i	emain in ford stated contra anything me	ce and valid act plus clair ntioned abo) and unle	for a pon m period ve, our l ess a cla	eriod upto d of six mo iability aga iim in writi	the time onths for inst this g ng is lodg	of completion the Bank Guar guarantee is res ged with us with	of the antee. tricted nin the
guarantee shall ce	-			0			
Signed and sealed	l this	day	of	20	at		
				SIG	GNED, SE	ALED AND DELI	VERED
				For	r and on b	ehalf of the BA	NK by:
					(Signature)	
						(Name)	
					(0	esignation)	
					(Co	ode Number)	
						(Address)	

NOTES:

- i. The bank guarantee should contain the name, designation and code number of the officer(s) signing the guarantee
 - The address, telephone number and other details of the Head Office of the Bank as well as of issuing Branch (within West Bengal/AT PAR ANYWHERE IN INDIA only to be accepted) should be mentioned on the covering letter of issuing Branch.

$Notice\ Inviting\ Tender\ No.\ WBIW/EE/KKBPD/NIT-5/2017-18,\ Sl.\ No. 1$

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 1.500Km due to heavy rainfall during July' 2017 at Mouza- Kesiabheri, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs.

Earnest Money- Rs. 7,234.00

3,61,707.00

Time allowed for completion- 30 Day

l.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	1,010.00	M	185.60	187456.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	896.90	M	65.90	59106.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	424.50	M	78.80	33451.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	451.50	M	23.60	10655.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	361.20	M	6.30	2276.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	771.00	Each	5.00	3855.00
	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	771.00	Each	6.30	4857.00
Q	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	621.00	Cum	76.70	47631.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	621.00	Cum	15.40	9563.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	621.000	Cum	4.60	2857.00

(Rupees three lakhs sixty-one thousand seven hundred and seven only)

Auto.

I / We do hereby agree to do the above work @ ()
Above / less / at par than the Schedule of Rates attached herewith.	
	(Signature of the contractor)

Government of West Bengal Irrigation & Waterways Directorate Office of the Executive Engineer

Kaliaghai-Kapaleswari-Baghai Project Division

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.2

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River in between Ch. 1.600Km to 1.750Km due to heavy rainfall during July' 2017 at Mouza- Kesiabheri, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 2,62,101.00
Earnest Money- Rs. 5,242.00

Time allowed for completion- 30 Day

S	Supplying Eucalyptus bullah at site including sizing and sharpening one end and				
	dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
Ī	15.00 cm. Av. Diametre	675.00	M	185.60	125280.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
Ī	a) 10 cm to 15.00 cm. Av. Diametre	599.40	M	65.90	39500.00
1	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
1	A) Above 12.50cm & up to 15.00 cm	286.00	M	78.80	22537.00
	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
((a) Above 5 cm to 7.50 cm diametre.	301.50	M	23.60	7115.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	241.20	M	6.30	1520.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	514.00	Each	5.00	2570.00
7 i	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	514.00	Each	6.30	3238.00
8 i 1 1	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	624.00	Cum	76.70	47861.00
	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
[2 (Two) Extra lead	624.00	Cum	15.40	9610.00
	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
1	1 (One) Extra lift	624.000	Cum	4.60	2870.00

(Rupees tow lakhs sixty-tow thousand one hundred and one only)

dub.

Executive Engineer

K.K.B. Project Division I & W Dte. Temathani (Sabang), Paschim Medinipur

I / We do hereby agree to do the above work @ (Above / less / at par than the Schedule of Rates attached herewith.)
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.3

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 1.850Km due to heavy rainfall during July' 2017 at Mouza-Kesiabheri, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 2,41,794.00 Earnest Money- Rs. 4,836.00

Earnest Money- Rs. 4
Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	675.00	M	185.60	125280.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	599.40	M	65.90	39500.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	286.00	M	78.80	22537.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	301.50	M	23.60	7115.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	241.20	M	6.30	1520.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	514.00	Each	5.00	2570.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	514.00	Each	6.30	3238.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.		Cum	76.70	31754.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	414.00	Cum	15.40	6376.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	414.000	Cum	4.60	1904.00

(Rupees tow lakhs forty-one thousand seven hundred ninety-four only)

I / We do hereby agree to do the above work @	
(Signature of the contractor)	

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.4

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 1.900Km due to heavy rainfall during July' 2017 at Mouza- Kesiabheri, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs.

2,48,356.00 Earnest Money- Rs. 4,967.00

.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
110.	Supplying Eucalyptus bullah at site including sizing and sharpening one end and	Quantity	Cint	Rate III Rs.	7 tillount in 143.
	dressing the other end for driving (bigger diametere above specified size if supplied				
	shall be paid at the rate of specified diameter). Measurement of diametere of bullah				
1	will be at 1/3rd from the thicker end and without bark) including loading, unloading,				
	carraige at site complete.				
	15.00 cm. Av. Diametre	695.00	M	185.60	120002.00
		695.00	IVI	185.60	128992.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including				
	sharpening driving point, protection to top end including hire charges for staging				
2	and all equipments.				
	I. Where boats all not necessary	64 = 00		67.00	40.572.00
	a) 10 cm to 15.00 cm. Av. Diametre	617.20	M	65.90	40673.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing				
3	pieces and cross pieces with the thicker end as specified below with cost of all				
,	materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	290.00	M	78.80	22852.00
	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at				
4	mid length				
	(a) Above 5 cm to 7.50 cm diametre.	309.00	M	23.60	7292.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for	247.20	M	6.30	1557.00
<i>J</i>	driven length only). (i) Where boats are not necessary				
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and	527.00	Each	5.00	2635.00
0	stacked (capacity 50 kg).				
	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of	527.00	Each	6.30	3320.00
	earth (wet or dry) or sand including sewing themouth after filling (cost of thread				
7	included), as done in case of Cement bags, (tying with a knot after filling will not be				
,	accepted) and placing in position within an initial lead of 150 metres including cost of				
	excavation of earth as per direction of the Engineer-in-charge.				
	Earthwork in excavation by any means from borrowpits, canals and channels in all	424.350	Cum	76.70	32548.00
	kinds of soil for maintenance and repairs of embankments, canals, channels and	424.330	Cuili	70.70	32346.00
	roads as per profile within an initial lead of 30 metres and lift of 1.50 metre				
8	including breaking clods, rough dressing, including removal of jungles and trees				
	upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of				
	Engineer-in-charge. Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or				
9	part there of beyond the initial lead of 30 metre.	40.4.0		1.7.10	
	2 (Two) Extra lead	424.350	Cum	15.40	6535.00
0	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or				
0	part thereof beyond the initial lift of 1.5 metre. 1 (One) Extra lift	424.350	Cum	4.60	1952.00
	1 (One) Extra int	724.330	Cuiii	4.00	1732.00

(Rupees tow lakhs forty-eight thousand three hundred fifty-six only)

I / We do hereby agree to do the above work @	. ()
Above / less / at par than the Schedule of Rates attached herewith.	
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.5

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.35Km due to heavy rainfall during July' 2017 at Mouza-Chakabdullah, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 3,20,127.00
Earnest Money- Rs. 6,403.00

Time allowed for completion- 30 Day

l.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	895.00	M	185.60	166112.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	794.80	M	65.90	52377.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	374.00	M	78.80	29471.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	399.00	M	23.60	9416.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	319.20	M	6.30	2011.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	681.00	Each	5.00	3405.00
	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	681.00	Each	6.30	4290.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	548.550	Cum	76.70	42074.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	548.550	Cum	15.40	8448.00
.0	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift				

(Rupees three lakhs twenty thousand one hundred twenty-seven only)

Executive Engineer

K.K.B. Project Division I & W Dte.
Temathani (Sabang), Paschim Medinipur

I / We do hereby agree to do the above work @ (Above / less / at par than the Schedule of Rates attached herewith.)
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.6

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.450Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 3,25,821.00
Earnest Money- Rs. 6,516.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	910.00	M	185.60	168896.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	808.10	M	65.90	53254.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	382.50	M	78.80	30141.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	406.50	M	23.60	9593.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	325.20	M	6.30	2049.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	694.00	Each	5.00	3470.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	694.00	Each	6.30	4372.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.		Cum	76.70	42868.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	558.900	Cum	15.40	8607.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	558.900	Cum	4.60	2571.00
				Total	Rs. 3,25,821.00

(Rupees three lakhs twenty-five thousand eight hundred twenty-one only)

Executive Engineer

K.K.B. Project Division I & W Dte.
Temathani (Sabang), Paschim Medinipur

I / We do hereby agree to do the above work @	
(Signature of the contractor)	

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.7

Restoration of Side Slip at C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.950Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 3,02,191.00 Earnest Money- Rs. 6,044.00

Time allowed for completion- 30 Day

Sl.No.	Time allowed for completion- Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.	Quantity	Cint	Rate III RS.	Amount in Rs.
	15.00 cm. Av. Diametre	845.00	M	185.60	156832.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	750.40	M	65.90	49451.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	353.00	M	78.80	27816.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	376.50	M	23.60	8885.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	301.20	M	6.30	1898.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	643.00	Each	5.00	3215.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	643.00	Each	6.30	4051.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	517.500	Cum	76.70	39692.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	517.500	Cum	15.40	7970.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	517.500	Cum	4.60	2381.00
		-		Total	Rs. 3,02,191.00

(Rupees three lakhs tow thousand one hundred ninety-one only)

Shits

I / We do hereby agree to do the above work @
(Signature of the contractor)

Government of West Bengal Irrigation & Waterways Directorate Office of the Executive Engineer Kaliaghai-Kapaleswari-Baghai Project Division

Temathani (Sabang), Paschim Medinipur. Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.8

Restoration of Side Slip at C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.100Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs.

3,13,576.00

Earnest Money- Rs.

6,272.00

Time allowed for completion-

30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	875.00	M	185.60	162400.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	777.00	M	65.90	51204.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	370.00	M	78.80	29156.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	391.50	M	23.60	9239.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	313.20	M	6.30	1973.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	669.00	Each	5.00	3345.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	669.00	Each	6.30	4215.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	538.200	Cum	76.70	41280.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	538.200	Cum	15.40	8288.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	538.200	Cum	4.60	2476.00
				Total	Rs. 3,13,576.00

(Rupees three lakhs thirteen thousand five hundred seventy-six only)

K.K.B. Project Division I & W Dte. Temathani (Sabang), Paschim Medinipur

I / We do hereby agree to do the above work @	()
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.9

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.300Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 1,52,075.00 Earnest Money- Rs. 3,042.00

Time allowed for completion- 30 Day

Sl.No.	Time allowed for completion-	Ouantitu		Data in Da	Amount in Do
51.NO.	Description of Items Supplying Eucalyptus bullah at site including sizing and sharpening one end and	Quantity	Unit	Rate in Rs.	Amount in Rs.
	dressing the other end for driving (bigger diametere above specified size if supplied				
	shall be paid at the rate of specified diameter). Measurement of diametere of bullah				
1	will be at 1/3rd from the thicker end and without bark) including loading, unloading,				
	carraige at site complete.				
	15.00 cm. Av. Diametre	425.00	M	185.60	78880.00
	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including				
	sharpening driving point, protection to top end including hire charges for staging				
2	and all equipments.				
	I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	377.40	M	65.90	24871.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing				
2	pieces and cross pieces with the thicker end as specified below with cost of all				
3	materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	181.00	M	78.80	14263.00
	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at				
4	mid length				
	(a) Above 5 cm to 7.50 cm diametre.	189.00	M	23.60	4460.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for	151.20	M	6.30	953.00
3	driven length only). (i) Where boats are not necessary				
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and	321.00	Each	5.00	1605.00
	stacked (capacity 50 kg).	221.00	E1-	6.20	2022.00
	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread	321.00	Each	6.30	2022.00
	included), as done in case of Cement bags, (tying with a knot after filling will not be				
7	accepted) and placing in position within an initial lead of 150 metres including costof				
	excavation of earth as per direction of the Engineer-in-charge.				
	excavation of earth as per direction of the Engineer-in-charge.				
	Earthwork in excavation by any means from borrowpits, canals and channels in all	258.750	Cum	76.70	19846.00
	kinds of soil for maintenance and repairs of embankments, canals, channels and				
8	roads as per profile within an initial lead of 30 metres and lift of 1.50 metre				
8	including breaking clods, rough dressing, including removal of jungles and trees				
	upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of				
	Engineer-in-charge.				
	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or				
9	part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	258.750	Cum	15.40	3985.00
	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or				
10	part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	258.750	Cum	4.60	1190.00
				Total	Rs. 1,52,075.00

(Rupees one lakhs fifty-tow thousand seventy-five only)



I / We do hereby agree to do the above work @
Above / less / at par than the Schedule of Rates attached herewith.
(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.10

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River in between Ch. 3.350Km to 3.480Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 2,41,794.00
Earnest Money- Rs. 4,836.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	675.00	M	185.60	125280.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	599.40	M	65.90	39500.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	286.00	M	78.80	22537.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	301.50	M	23.60	7115.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	241.20	M	6.30	1520.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	514.00	Each	5.00	2570.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	514.00	Each	6.30	3238.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.		Cum	76.70	31754.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	414.000	Cum	15.40	6376.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	414.000	Cum	4.60	1904.00
				Total	Rs. 2,41,794.00

 $(Rupees\ tow\ lakhs\ forty-one\ thousand\ seven\ hundred\ ninety-four\ only)$

Auto.

I / We do hereby agree to do the above work @
Above / less / at par than the Schedule of Rates attached herewith.
(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.11 $\,$

Restoration of Side Slip at R/S & C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.500Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 3,07,883.00 Earnest Money- Rs. 6,158.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	860.00	M	185.60	159616.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	763.70	M	65.90	50328.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	361.50	M	78.80	28486.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	384.00	M	23.60	9062.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	307.20	M	6.30	1935.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	656.00	Each	5.00	3280.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	656.00	Each	6.30	4133.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	527.850	Cum	76.70	40486.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	527.850	Cum	15.40	8129.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	527.850			

(Rupees three lakhs seven thousand eight hundred eighty-three only)



I / We do hereby agree to do the above work @ (Above / less / at par than the Schedule of Rates attached herewith.)
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.12

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 3.800Km due to heavy rainfall during July' 2017 at Mouza- Chaksafi, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 2,00,215.00
Earnest Money- Rs. 4,004.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	560.00	M	185.60	103936.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	497.30	M	65.90	32772.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	235.50	M	78.80	18557.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	249.00	M	23.60	5876.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	199.20	M	6.30	1255.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	424.00	Each	5.00	2120.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	424.00	Each	6.30	2671.00
Q	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	341.550	Cum	76.70	26197.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	341.550	Cum	15.40	5260.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	341.550	Cum	4.60	1571.00
				Total	Rs. 2,00,215.00

(Rupees tow lakhs tow hundred fifteen only)

Solute

I / We do hereby agree to do the above work @ ()
7100007 18357 at par than the Schedule of Rules attached herewith.	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.13

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 4.300Km due to heavy rainfall during July' 2017 at Mouza- Ramchak, Block: Sabang, Dist. Paschim Medinipur

> 2,54,049.00 Amount Put to Tender- Rs. 5,081.00 Earnest Money- Rs.

	Time allowed for completion-		У		
l.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	710.00	M	185.60	131776.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	630.50	M	65.90	41550.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	298.50	M	78.80	23522.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	316.50	M	23.60	7469.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	253.20	M	6.30	1595.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	540.00	Each	5.00	2700.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	540.00	Each	6.30	3402.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.		Cum	76.70	33341.00
	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or			\Box	
9	part there of beyond the initial lead of 30 metre.	12.1.700		15.40	6604.00
	2 (Two) Extra lead	434.700	Cum	15.40	6694.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.	10.1 ====			
	1 (One) Extra lift	434.700	Cum	4.60	2000.00

(Rupees tow lakhs fifty-four thousand and forty-nine only)

I / We do hereby agree to do the above work @ ()
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.14

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 4.600Km due to heavy rainfall during July' 2017 at Mouza- Ramchak, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 2,59,742.00 Earnest Money- Rs. 5,195.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	725.00	M	185.60	134560.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	643.80	M	65.90	42426.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	307.00	M	78.80	24192.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	324.00	M	23.60	7646.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	259.20	M	6.30	1633.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	553.00	Each	5.00	2765.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	553.00	Each	6.30	3484.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	445.050	Cum	76.70	34135.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	445.050	Cum	15.40	6854.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	445.050	Cum	4.60	2047.00

(Rupees tow lakhs fifty-nine thousand seven hundred forty-tow only)

I / We do hereby agree to do the above work @	()
	(Signature of the contractor)
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.15

Restoration of Side Slip at R/S & C/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 5.150Km due to heavy rainfall during July' 2017 at Mouza- Ramchak, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 3,31,513.00 Earnest Money- Rs. 6,630.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.	-			
	15.00 cm. Av. Diametre	925.00	M	185.60	171680.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	821.40	M	65.90	54130.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	391.00	M	78.80	30811.00
	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	414.00	M	23.60	9770.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	331.20	M	6.30	2087.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	707.00	Each	5.00	3535.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	707.00	Each	6.30	4454.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	569.250	Cum	76.70	43661.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	569.250	Cum	15.40	8766.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift				

(Rupees three lakhs thirty-one thousand five hundred thirteen only)

We do hereby agree to do the above work @(
bove / less / at par than the Schedule of Rates attached herewith.
(Signature of the contractor)

$Notice\ Inviting\ Tender\ No.\ WBIW/EE/KKBPD/NIT-5/2017-18,\ Sl.\ No.16$

Restoration of Side Slip repair of L/B of Sundarpur Khal from Ch. 0 Km to 0.75Km due to heavy rainfall during July' 2017at Mouza-Chaulkuri, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 4,65,230.00
Earnest Money- Rs. 9,305.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	1,411.00	M	185.60	261882.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	1,269.90	M	65.90	83686.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	504.00	M	78.80	39715.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	562.50	M	23.60	13275.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	450.00	M	6.30	2835.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	964.00	Each	5.00	4820.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	964.00	Each	6.30	6073.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	547.50	Cum	76.70	41993.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	547.50	Cum	15.40	8432.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	547.50	Cum	4.60	2519.00
				Total	Rs. 4,65,230.00

(Rupees four lakhs sixty-five thousand tow hundred thirteen only)

Shirth.

I / We do hereby agree to do the above work @	. ()
Above / less / at par than the Schedule of Rates attached herewith.	
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.17

Restoration of Side Slip repair of L/B of River Kaliaghai at near Ch. 17.600 Km due to heavy rainfall during July' 2017at Mouza-Duria, Block: Narayangarh, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 1,11,676.00 Earnest Money- Rs. 2,234.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.	-			
	15.00 cm. Av. Diametre	275.00	M	185.60	51040.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				42040.00
	a) 10 cm to 15.00 cm. Av. Diametre	243.40	M	65.90	16040.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	220.00	M	78.80	17336.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	151.50	M	23.60	3575.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	121.20	M	6.30	764.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	257.00	Each	5.00	1285.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	257.00	Each	6.30	1619.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	207.00	Cum	76.70	15877.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	207.00	Cum	15.40	3188.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	207.00	Cum	4.60	952.00
				Total	Rs. 1,11,676.00

(Rupees one lakhs eleven thousand six hundred seventy-six only)



I / We do hereby agree to do the above work @
Above / less / at par than the Schedule of Rates attached herewith.
(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.18

Restoration of Side Slip repair of L/B of Kharika Khal at near Ch. 1.400 Km due to heavy rainfall during July' 2017at Mouza-Paraspur, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs.

4,50,854.00

Earnest Money- Rs.

9,017.00

Time allowed for completion-

30 Day

Sl.No.	Time allowed for completion- Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.	Quantity	Cint	Rate in RS.	Amount in Ass
	15.00 cm. Av. Diametre	1,260.00	M	185.60	233856.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	1,118.90	M	65.90	73736.00
	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	555.00	M	78.80	43734.00
	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	562.50	M	23.60	13275.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	450.00	M	6.30	2835.00
0	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	964.00	Each	5.00	4820.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	964.00	Each	6.30	6073.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	750.00	Cum	76.70	57525.00
	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	750.00	Cum	15.40	11550.00
	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
	1 (One) Extra lift	750.00	Cum	4.60	3450.00

(Rupees four lakhs fifty thousand eight hundred fifty-four only)

Executive Engineer

K.K.B. Project Division I & W Dte.
Temathani (Sabang), Paschim Medinipur

I / We do hereby agree to do the above work @	()
Above / less / at par than the Schedule of Rates attached herewith.	
	(Signature of the contractor)

Notice Inviting Tender No. WBIW/EE/KKBPD/NIT-5/2017-18, Sl. No.19

Restoration of Side Slip at R/S of Kolonda Ex-Zamindary Bundh R/B of Deuli River at near Ch. 2.300 Km due to heavy rainfall during July' 2017 at Mouza- Chakabdullah, Block: Sabang, Dist. Paschim Medinipur

Amount Put to Tender- Rs. 2,12,472.00
Earnest Money- Rs. 4,249.00

Time allowed for completion- 30 Day

Sl.No.	Description of Items	Quantity	Unit	Rate in Rs.	Amount in Rs.
1	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete.				
	15.00 cm. Av. Diametre	595.00	M	185.60	110432.00
2	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. I. Where boats all not necessary				
	a) 10 cm to 15.00 cm. Av. Diametre	528.40	M	65.90	34822.00
3	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete.				
	A) Above 12.50cm & up to 15.00 cm	248.00	M	78.80	19542.00
4	Supplying, dressing and stacking at site bamboo pins (diametre tobe measured at mid length				
	(a) Above 5 cm to 7.50 cm diametre.	264.00	M	23.60	6230.00
5	Driving bamboo pins of average 5 cm to 7.5 cm diametre (paymentwill be made for driven length only). (i) Where boats are not necessary	211.20	M	6.30	1331.00
6	Supplying to site 2nd hand cement polly bags in good conditiondelivered and stacked (capacity 50 kg).	450.00	Each	5.00	2250.00
7	Labour charge for filling polly bags (capacity 50 kg cement bag)with all kinds of earth (wet or dry) or sand including sewing themouth after filling (cost of thread included), as done in case of Cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	450.00	Each	6.30	2835.00
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	362.25	Cum	76.70	27785.00
9	Extra rate for earthwork in Item no. 8 above for each additional lead of 30 metres or part there of beyond the initial lead of 30 metre.				
	2 (Two) Extra lead	362.25	Cum	15.40	5579.00
10	Extra rate for earthwork in Item no. 8 above for each additional lift of 1.5 metres or part thereof beyond the initial lift of 1.5 metre.				
10	1 (One) Extra lift	362.25	Cum	4.60	1666.00

(Rupees tow lakhs twelve thousand four hundred seventy-tow only)

Executive Engineer

K.K.B. Project Division I & W Dte.
Temathani (Sabang), Paschim Medinipur

I / We do hereby agree to do the above work @)
	(6)

Issued	to (Bidd	er):	•••••	•••			
Postal	Address	with	Contact	No. 8	& e-mail	l	•••••

Price - Free of Cost

West Bengal Form No. 2911 FOR WORKS OF TENDER VALUE Above Rs. 0.10 lakh - Rs. 5.0 lakh

Tender No. WBIW/EE/KKBPD/NIT-05/2017-18, Sl. No- of 2017-18

TENDER AND CONTRACT FOR WORKS GENERAL RULES AND DIRECTIONS FOR GUIDANCE OF BIDDERS/CONTRACTORS

(A) Applicable for off-line tenders up to tender value of Rs. 5.0 Lakh

- 1. All work proposed for execution by contract will be notified in a form of invitation to tender posted in Departmental website www.wbiwd.gov.in and notice boards at public places signed by the Sub-Divisional Officer/Divisional Officer.
 - This form will state the work to be carried out, the date for submitting and opening of tenders as well as the time allowed for carrying out the work; also the amount of earnest money to be deposited with the tender, the amount of the security deposit to be deposited by the successful bidder and the percentage, if any, to be deducted from bills. Copies of the specification, design & drawings and other documents required in connection with the work, signed for the purpose of identification by the Sub-Divisional Officer/Divisional Officer shall also be open for inspection by the contractor at the office of the Sub-Divisional Officer/Divisional Officer during Office hours.
- 2. In the event of the tender being submitted by a firm, it must be signed separately by each members thereof, or, in the event of absence of any of the partners, it must be signed on his/her behalf by a person holding a power-of-attorney authorizing him/her to do so. Such power-of-attorney is to be produced with the tender, and in the case of a firm carried on by one member of a joint family; it must disclose that the firm is duly registered under the Indian Partnership Act.
- 3. Acceptance of measurements entered and bills raised on account of a work, when executed by a firm, must also be signed by the several partners, except where the contractors are described in their tender as a firm in which case the receipts must be signed in the name of the firm by one of the partners or by some other person having authority to give effectual receipt for the firm.
- 4. Any person who submits a tender shall fill up the usual printed form, stating at what rate he or she is willing to undertake the work. Tenders which propose any alteration in the work specified in the said form of invitation to tender, or in the time allowed for carrying out the work, or which contain any other conditions of any sort, will be liable to rejection. No single tender shall include more than one work, but contractors who wish to tender for two or more works shall submit a separate tender for each. Tenders shall have the name and number of the work to which they refer, written outside the sealed envelopes.
- 5. The Divisional Officer/Sub-Divisional Officer or his/her duly authorized assistant will open tenders in presence of intending contractors/bidders who may be present at the time, and will enter the bid amounts as percentage rates above or below or at par of the tender BOQ of several tenders in a comparative statement in a suitable form. In the event of a tender being accepted, a receipt shall thereupon be given to the contractor/bidder who shall thereupon for the purpose of identification, sign copies of specifications and other documents mentioned in the Rules. In the event of a tender being rejected, the earnest money with such unaccepted tender shall be refunded

- within 10 days from the date on which the tender is decided, provided the contractor(s) present himself/herself before the Sub-divisional Officer/Divisional Engineer to take the earnest money refund.
- 6. The accepting authority reserves the right to reject any or all the tenders without assigning any reasons to the participating bidders and he/she will not be bound to accept either the lowest tender or any of the other tenders.
- 7. Receipt of an accountant or clerk for any money paid by the contractor/bidder will not be considered as an acknowledgement of payment to the Sub-Divisional Officer/Divisional Officer, and the contractor shall be responsible for ensuring that he/she procures a receipt signed by the Sub-Divisional Officer/Divisional Officer, or a duly authorized cashier.
- 8. The Memorandum of work tendered for, and the schedule of materials to be supplied by the executing Department at their supply/issue rates, shall be filled in and completed in the office of the Sub Divisional Officer / Divisional Officer before the tender form is issued. If a form is issued to an intending bidder/contractor without having been so filled in and completed, he/she shall request the office to have this done before he/she completes and delivers his/her tender.

TENDER FOR WORKS

I/We on behalf of the Governor hereby tender for the execution of the work specified in the underwritten "Memorandum" within the time specified in such "Memorandum" at the rates specified therein, and in accordance, in all respects within the Rules contained in clauses 1 to 40 herein after, in all of the Annexed conditions of Contract, Additional rules of the contract and with such other materials as are provided for, by and in all other respects in accordance and with such conditions so far as applicable.

MEMORANDUM

	(a) General description of work
(a) If several sub- works are included,	(b) Estimated cost put to Tender Rs
they should be detailed in a separate list	(c) Earnest money Deposit Rs.
separate tist	(d) Security Deposit (including earnest money) Rs
	(e) Percentage, if any, to be deducted from bill Rs
	(f) Time allowed for the work from date of written order to commence

*Give particulars and numbers

Strike out (a) or (b) as applicable.

T Signature of Contractor before submission of tender

X Signature of Witness to contractor's signature

XX Signature of the Divisional Officer/AE on behalf of the Department.

Security deposit

Prescribed percentage of tender value as EMD and balance is to be deducted from all progressive R/A bills totaling 10% of tendered value as actually done as Security/ Performance security.

Should this tender be accepted, I/we hereby agree to abide by and fulfill all of the terms and provisions of the said conditions of contract annexed hereto so far as applicable, or in default thereof to forfeit and pay to the Governor or his/her successions in office, the sums of money mentioned in the said conditions.

20

Dated the Day of X Witness T

Address Occupation

The above tender is here by accepted by me for and on behalf of the Governor of the State of west Bengal

XX

Dated the Day of 20

CONDITIONS OF CONTRACT

Clause 1. The person/persons whose tender may be accepted (hereinafter shall be called the contractor) shall 1(A) [within 10 days of receipt of 'Letter of Acceptance' (LoA) from the Tender Accepting Authority, deposit with the Sub-Divisional Officer (AE)/ Divisional Officer (EE), a sufficient sum, which together with the Earnest Money deposited by him/her with his/her tender, will make the full security/performance-security amounting to 10% of the tendered amount and in such a case, there shall be no further deductions from the progressive bills so long as value of work does not exceed the tendered amount] or, 1(B) [permit the Divisional officer at the time of making any payment to him for work done under the contract to deduct such sum which together with the Earnest Money already deposited and converted into security deposit, shall amount to 10% of the value of works executed at the material point of time and paid during the progressive running accounts bills, so that total deduction together with Earnest Money constitute 10% of the tendered value of work actually done].

Provided, that always in the event of the contractor depositing a lump sum, by way of security deposit as contemplated at 1(A) above, and if, the sum so deposited together with the Earnest Money does not amount to 10% of the executed value of work, it shall be lawful for the Divisional Officer at the time of making payment for work done under the contract, to make the full 10(Ten) percent by deducting a sufficient sum from every such payment as last aforesaid.

Compensation of all other sums of money payable by the contractor to the Government under the terms of the contract may be deducted from the security deposit.

In case of excess/and supplementary work over the tendered amount, additional security @ of 10% of such additional amount are to be deposited for all such excess/ and supplementary works beyond the tendered amount before payment of final bill.

However, even through the earnest money deposited exceeds the prescribed percentage, due to reduction of tendered amount due to any reasons whatsoever, such additional earnest money shall be deemed to have been converted into security and further deductions from progressive bills shall be made, taking into consideration the enhanced component of earnest money is converted into security.

In case of tenders, where payment of additional performance guarantee have been specified in the tender notice (NIT), such guarantee deposited within the prescribed time, shall also be converted into security and deductions from progressive bills shall be made considering such guarantee in addition to the earnest money to ensure that the total security withheld by the Government including performance guarantee shall not exceed 10% of the tendered amount. All compensation or all other sums of money payable by the contractor to the Government under the terms of his/her contract may be deducted from, or paid by sale of a sufficient part of his/her security deposit, or from the interests arising there from, or from any sum which may be due or may become due to the contractor by the Government, on any account whatsoever, and in the event of his/her security deposit being reduced, by reason of any such deduction or sale as aforesaid, the contractor shall within ten days thereafter make good in appropriate mode, as decided by the Government as aforesaid, any sum or sums which may have been deducted from, or realized by sale of his/her security deposit or any part thereof.

In cases of all open tenders, for each contract work, an earnest money amounting to 2% of the estimated cost put to tender, so long as the estimated cost put to tender is up to Rs.25.00 crore and amounting to Rs. 50.00 lakh plus 10% of the excess of estimated cost over Rs.25.00 crore, in case where such estimated cost put to tender is beyond Rs.25.00 crore, will have to be deposited by all bidders, whether they are (a) bonafide contractors quoting for open e-tenders individually or as a combined unit, (b) outside State bonafide contractors, and (c) Unemployed Engineers' Co-operatives, except those otherwise exempted by the State Government on specific orders there for.

In case of excess works over the tendered amount, additional security is to be deposited for the amount of such excesses beyond the tendered amount as per prescribed rate, before payment of final bill in case of contractors opting for paying advance security and receiving payment against progressive bills without any deduction.

Security deduction will not normally be required for hiring of inspection vehicles and boats etc, supply of tools & plants, furniture and computer peripherals. Separate agreement may be required in those cases, particularly for consultancy and RFP for EPC, which shall be made in standard formats to be approved by the appropriate Government.

Clause 2. The time allowed for carrying out the work as entered in the tender shall be strictly observed by the contractor, and which shall be reckoned from the date on which the order to commence work is given to the contractor. The work shall throughout the stipulated period of the contract be proceeded with all due diligence. Time being deemed to be the essence of contract on the part of the contractor, the contractor shall be bound in all cases, to achieve the 'Milestones' as defined under Clause 5 and specified in the NIT into various 'Identifiable and quantifiable construction related stages' pertaining to the work. In the event of the contractor failing to comply with any of the conditions related to achieving the 'Milestones' within the specified time period prescribed for such 'Milestone' plus one month, he/she shall be liable to pay compensation.

If the contractor fails to commence and/or maintain required progress viz. Milestones defined in the Notice Inviting Tender over the total time allotted for its full completion and in terms of clause 5 or fails to complete the work and clear the site on or before the end of contract period or extended date of completion, he/she shall, without prejudice to any other rights or remedy available under the law on account of such breach, pay as agreed compensation to the implementing Department.

This will also apply to items or group of items for which a separate period of completion has been specified.

i. Compensation for delay of work: @ 2% (Two percent) of the tendered value of work arrived for each month of delay to be computed on per day basis subject to the ceiling limit of security deposit already withheld or due to be withheld during imposition of the said clause and minimum payable compensation equivalent to

Compensation for delay

the Earnest Money deposited (EMD).

Provided always, that the total amount of compensation for delay, to be paid under this clause shall not exceed 10 % of the tendered value of work or the tendered value of the item or group of items of the work, for which a separate period of completion is originally given.

Action when whole of security deposit is forfeited The amount of compensation may be adjusted or set-off against any sum payable to the Contractor under this contract, if the contractor catches up with the progress of work subsequently, part of full of the desired progress as per the contract in accordance with the decision of the Tender Accepting Authority, under powers delegated by appropriate Government to be communicated by the Engineer-in-Charge, the withheld amount shall be released. However, no interest, whatsoever, shall be payable on such withheld amount.

Contractor remains liable to pay compensation, if action is not taken under Clause 3 **Clause 3.** Subject to other provisions contained in this clause, the Engineer-in-charge with the prior approval of Tender Accepting Authority, may, without prejudice to his/her any other rights, remedy against the contractor in respect of any delay, inferior workmanship, any claims for damages and/or any other provisions of the contract or otherwise, and whether the date of completion has or has not been elapsed, by notice in writing, absolutely determine the contract in any of the following cases:

- i. If the contractor has been given by the Engineer-in-charge a notice in writing to rectify, reconstruct or replace any defective work or that work is being performed in an inefficient or otherwise improper or un-workman like manner, shall omit to comply with the requirements of such notice for a period of seven days thereafter;
- ii. If the contractor has without reasonable cause suspended the progress of work, or has failed to proceed with the work with due diligence so that, in the opinion of the Engineer-in-charge he/she will be unable to secure completion of the work by the schedule date for completion, and continues to do so after a notice of seven days in writing from the Engineer-in-charge;
- iii. If the contractor fails to complete the work within the stipulated date or the Milestones/items of work within individual dates of completion, if any, stipulated on or before such date(s) of completion and does not complete them or reach the defined Milestones within the period specified in the notice given in writing in that effect by the Engineer-in-charge;
- iv. If the contractor persistently neglects to carry out his/her obligations under the contract and/or commits default by not complying with any of the terms & conditions of the contract and does not remedy it, or take effective steps to remedy it, within seven days after a notice in writing is given to him/her in that effect by the Engineer-in- charge;
- v. If the contractor being an individual, or a firm, or any partner thereof, shall at any time be adjudged insolvent or have a 'Receiving Order' or Order for administration of his/her Estate made against him/her, or take any proceedings for liquidation or composition (other than a voluntary liquidation for the purpose of amalgamation or reconstruction) under any Insolvency Act for the time being in force, or make any conveyance or assignment of his/her effects or composition or arrangement for the benefit of his/her creditor or purport to do so, or if any application be made under Insolvency Act for the time being in force for the sequestration of his/her Estate, or if a trust deed is executed by him/her for benefit of his/her creditors;
- vi. If the contractor being a Company pass a resolution or the court delivers an order of judgement that the Company shall be wound up, or if a receiver or a manager on behalf of a creditor be appointed, or if a circumstance arise which entitle the Court or the creditor to appoint a receiver or a manager or which entitle the court to issue a winding up order;
- vii. If the contractor shall suffer an execution order being levied on his/her goods and allows it to be continued for a period of 21 days;
- viii. If the contractor assigns without prior written approval of the Tender Accepting Authority, transfers, sublets (engagement of labour on piece work basis or of labour with materials not to be incorporated in the work, shall not be deemed to

be subletting) or otherwise parts with or attempts to assign, transfer, sublet or otherwise parts with the entire work or any portion thereof without prior written approval of the Engineer-in-charge;

- ix. AND THEREFORE, the contractor has made himself/herself liable for action under any of the cases aforesaid, the Engineer-in-charge on behalf of the Government with the prior approval of Tender Accepting Authority, shall have the powers to adopt any of the following actions, as he/she may deem best suited to the interest of the Government:
 - a) To determine the contract as aforesaid, of which rescission notice in writing and costs to be recovered for works since executed subject to a minimum of the amount of Earnest Money deposited by the contractor under the hand of Engineer-in-charge, shall be the conclusive evidence. Upon such determination, the Earnest Money Deposit, Security Deposit already recovered for executed works and performance guarantee, if any under the contract shall be liable to be forfeited and shall be absolutely at the disposal of the Government.
 - b) After giving notice to the contractor to measure up the work executed and to take such whole or the balance or part thereof, as shall be un-executed out of his/her hands, and to give it to another contractor to complete the balance work. The contractor, whose contract is determined or rescind as above, shall not be allowed to participate in the tendering process for the balance work.
 - c) To employ labour paid by the implementing Department, and to supply materials, to carry out the works or any part of the work, debarring the contractor and debiting the cost of labour and price of materials (of the amount of which cost and price determined by certificate of the Engineer-in-Charge shall be final and conclusive against the contractor) and crediting him/her with the value of the work done, in all respects in the same manner and at the same rates as if it had been carried out by the contractor under the terms of his/her contract; the certificate of the Executive Engineer as to the value of the work done shall be final and conclusive against the contractor.

Contractors remains liable to pay compensation if action not taken under Clause 3 In the event of above course being adopted by the Engineer-in-charge, the contractor shall have no claim of compensation for any loss sustained by him/her by reason of his/her having purchased or procured any material or entered into any engagement or made any advances on any account or with a view to execute the work or the performance of the contract. In case, action is taken under any of the provisions aforesaid, the contractor shall not be entitled to recover or be paid any sum for any work thereof actually performed under this contract, unless and until the Engineer-in-charge has certified in writing that the performance of such work and value payable in respect thereof, and he/she shall only be entitled to be paid the value so certified.

Clause 3A. In case, the work cannot be started due to reasons not within the control of the contractor within $1/8^{\rm th}$ (one eighth) of the stipulated time for completion of the work, which is accepted as a valid & justified reason by the Tender Accepting-Authority, either party viz. Contractor & the Engineer-in-Charge may close the contract with the approval of Tender Accepting Authority. In such an eventuality, the earnest money deposited and the security of the contractor shall be refunded, but no payment on account of interests, loss of profit or damages etc. shall be payable at all.

Clause 3B. In case of a continuing work cannot be completed due to reasons beyond the control of the contractor, like Force Majeure enumerated later under Clause 5.2, the contract may be terminated as stated in clause 3A above by the Engineer-in-Charge with the consent of the contractor and approval of the Tender Accepting Authority.

Clause 4. In cases in which any of the powers conferred upon the Engineer-in-Charge under Clause 3 hereof shall have become exercisable and the same had not been previously exercised. Non exercising thereof shall not constitute as a waiver of any of the conditions hereto, and such powers shall, not withstanding be exercisable in the event of any future case of default by the contractor, for which by any clause or clauses hereof, he/she is declared liable to pay compensation amounting to whole of his/her security deposit, and the liability of the contractor for past and future compensation shall remain unaffected. In the event of the Engineer-in-Charge putting in force either of the powers under ix (a) or (c) vested with him/her under the preceding clause, he/she may if he/she so desire, take possession of all or any tools & plant, materials and stores, in or upon the work, or the site thereof, or belonging to

Power to take possession of or require removal of or sell Contractor's plant the contractor, or procured by him/her and intended to be used for execution of the work, or any part thereof, paying or allowing for the same in account at the contract rates or in case of these not being applicable, at current market rates to be certified by the Engineer-in-Charge whose certificate thereof, shall be final and binding. Otherwise, the Engineer-in-Charge may deliver notice in writing to the contractor or his/her clerk, foreman or other authorized agent, requiring him/her to remove such tools & plant, materials or stores from the premises within a time to be specified in such notice; and in the event of the contractor failing to comply with any such requisition, the Engineer-in-Charge may remove them at the contractor's expense or sale them by public auction or private sale on account of the contractor and at his/her risk, in all respects, and the certificate of the Engineer-in-Charge as to the expense of any such removal, and the amount of the proceeds and expense of any such sale shall be final and conclusive against the contractor.

Extension of time

- **Clause 5.** The time allowed for execution of a work as specified in the 'Schedule of work' or in the extended time in accordance with the terms & conditions shall be the essence of the contract. Execution of work shall commence from such time period as mentioned in the said schedule, or from the date of handing over of the site to the contractor whichever is later. If the contractor commits default in commencing execution of the work as aforesaid within thirty days, without justifiable reasons included under Force Majeure or other such reasons beyond the control of the contractor, in which case to be reported within seven days by the contractor, considered valid and cogent by the Engineer-in-Charge, the Engineer-in-Charge shall after passing of thirty days from the date of scheduled commencement of work as per work order, with the prior approval of the tender accepting authority, without prejudice to any other rights to remedy available in law, be at liberty to apply clause 2 and subsequently clause 3 of the tender contract.
- 5.1 As soon as possible after the contract is executed, signed and agreed, the contractor shall submit a 'Time and Progress Chart' for each broad activity (Milestone) and get it approved by the Engineer-in-charge. The chart shall be prepared in direct relation to the time slated in the Notice Inviting Tender (NIT) document, for completion of items or groups of items of the work. It shall indicate the forecast of the dates of commencement and completion of various trades of sections of the work. This may be amended, as necessary, by an agreement between the Engineer-in-charge and the contractor within the limitations of time imposed in the NIT document. Further, to ensure good progress during execution of work, the contractor shall in all cases, in which the time allowed for any work exceeds one month (save and except for special jobs for which a separate programme has been agreed upon) to complete the work as per defined 'Milestones' given in such 'Schedule of Work' defined clearly in the NIT itself into various Identifiable and quantifiable construction related stages' related with the type and nature of work, and that the 'total time' allowed for completion of the work' is to be broken up against achievement of those stages during the construction/ progress of work to ensure a periodic monitoring of progress and enable the contractor and the Engineer-in-Charge to take corrective measures from time to time.
- 5.2 If the work(s) be delayed by:
 - Force majeure, due to war, internal emergency and other conditions such as abnormally bad weather, flood, cyclone natural calamity or serious loss or damage by fire or civil commotion, strike or lockout affecting procurement of construction materials or any of the trades employed in the work, or any other cause which in the absolute discretion of the Engineer in charge is beyond the contractor's control, then upon happening of any such event causing delay, the contractor shall immediately give notice thereof in writing to the Engineer-in-charge but shall nevertheless use constantly his/her best endeavors to prevent or make good the delay and shall do all that may be reasonably required to the satisfaction of the Engineer-in-charge to proceed with the works.
- 5.3 Request for rescheduling of 'Milestones' of various activities and extension of time, to be eligible for consideration, shall be made by the contractor in writing within fourteen days of the happening of the event causing delay in the prescribed form. The contractor may also, if practicable, indicate in such a request the period for which extension is desired.
- 5.4 If any such case the Engineer-in-Charge, with the approval of Tender Accepting Authority may give a fair and reasonable extension of time, and reschedule the activity wise 'Milestones' for completion of the work. Such extension shall be

communicated to the contractor by the Engineer-in-charge with the approval of Tender Accepting Authority in writing within maximum 1 (one) month of the date of receipt of such request.

Final Certificate

Clause 6. On completion of work, the contractor shall be furnished with a certificate by the Engineer-in-Charge of such completion, but no such certificate shall be given, nor shall the work be considered to be completed until and unless the contractor shall have removed from the work premises on which the work is executed, all scaffolding, surplus materials and rubbish, and cleaned off the dirt from wood works, doors, windows, floors, or other parts of any building, upon or about which the work is executed, or of which he may have had possession for the purpose of the execution thereof, nor until the work shall have been measured by the Engineer-in-charge whose measurements shall be binding and conclusive against the contractor. If the contractor shall fail to comply with the requirements of this clause as to removal of scaffolding, surplus materials and rubbish and cleaning off dirt on or before the date fixed for completion of the work, the Engineer-in-charge may at the expense of the contractor remove such scaffolding, surplus materials and rubbish, and dispose of the same as he/she thinks fit, and clean off such dirt as aforesaid; and the contractor shall forthwith be bound to pay the amount of all expense so incurred, and shall have no claim in respect of any such scaffolding or surplus materials as aforesaid, except for any sum actually realized by the sale thereof.

Payment on intermediate certificates to be regarded as advances Clause 7. No running account bill payment shall be normally made for works of tendered value up to Rs 25.00 lakh, till after the whole of the work shall have been completed and certificate of completion given. For works of tendered value above Rs 25.00 lakh, for running account bill payment, the contractor shall on submitting a bill of at least Rs 25.00 lakh there for, be entitled to receive a payment proportionate to the part thereof, approved and passed by the Engineer-in-charge, whose certificate of such approval and passing of the sum so payable shall be final and conclusive against the contractor. Payment for unmeasured bill against materials supplied to site may also be given on certification of the Assistant Engineer/SDO. But all such intermediate payments shall be regarded as payments by way of advance against the final measured bill payment only and not as payments for work actually done and completed, and shall not preclude the bad, unsound, and imperfect or unskillful work which is to be removed and taken away and reconstructed, or re-erected or to be considered as an admission of the due performance of the contract, or any part thereof, in any respect, or the accruing of any claim, nor shall it conclude, determine or affect in any way the powers of the Engineer-in-charge under these conditions or any of them as to the final settlement and adjustment of the accounts or otherwise or in any other way vary or affect the contract. The final bill shall be submitted by the contractor within one month of the date fixed for completion of the work, otherwise the Engineer-in-charge's certificate of the measurement and of the total amount payable for the work accordingly shall be final and binding on all parties.

Bills to be submitted monthly **Clause 8.** Works bill shall be submitted by the contractor each month, after fulfilling above clause, on or before the date fixed by the Engineer-in-charge, for all works executed during the previous month, and the Engineer-in-charge shall take or cause to take the requisite measurement for the purpose of having the same verified, and the claim as far as admissible adjusted, if possible, before the expiry of fourteen days from the presentation of the bill. If the contractor does not submit the bill within the time fixed as aforesaid, the Engineer-in-charge may depute a Junior Engineer to measure up the said work in presence of the contractor, whose countersignature in the measurement book will be sufficient warrant; and the Engineer-in-charge may prepare a bill from such list which shall be binding on the contractor in all respects.

Within 10(Ten) days of completion of work, the contractor shall give notice of such completion to the Engineer-in-charge and within 14(Fourteen) days of receipt of such notice, the Engineer-in-charge shall inspect the work, and if there is no defect in the work, he/she shall furnish to the contractor a final certificate of completion. Otherwise, a provisional certificate of physical completion indicating defects (a) to be rectified by the Contractor and/or (b) for which payment will be made at reduced rates, shall be issued. Such reduced rate is to be imposed with the approval of Superintending Engineer concerned.

Clause 8A. When annual repair and maintenance work is carried out, the splashes and droppings from white washing, colour washing, painting etc., on walls, floors, windows shall be removed and the surface cleaned simultaneously with the completion of these items of work in the individual rooms, quarters or premises etc where the work is done

without waiting for the actual completion of all the other items of work in the contract. In case, the contractor fails to comply with the requirements of this clause, the Engineer-in-Charge shall have the right to get this work done at the cost of the contractor either Departmentally or through any other contractor. Before taking such action, the Engineer-in-Charge shall give ten days notice in writing to the contractor.

Clause 8B. The contractor shall submit completion plan/drawing as required in the 'General Specification' for electrical works as applicable within 30 days of completion of the work.

Clause 9. The contractor shall submit all bills in printed forms to be obtained on application in the office of the Engineer-in-charge, and the charges in the bills shall always be entered at the rates specified in tender or in case of any extra work ordered in pursuance of these conditions, and not mentioned or provided for in the tender at rates therein after provided for such work.

Payments of contractor's bills to Banks

Clause 9A (1) Payments due to the contractor may, if so desired by him/her be made to his bank through e-Pradan, details of which has to be directly furnished to the Engineer-in-charge

- (i) An authorization in the form of a legally valid document, e.g. irrevocable Power-of-Attorney conferring authority on the Bank to receive payment; and
- (ii) His/her own acceptance of the correctness of the accounts made out as being due to him/her by the Government, or his/her signature on the bill or other claims preferred against the Government, before settlement by the Engineer-in-charge of the account or claim by payment to the Bank.

While the on-line receipt given by such Banks shall constitute a full and sufficient discharge/acquaintance for the payment, the contractor should wherever possible present his/her bills duly receipted and discharged through his/her Banker/s.

- (2) In the case of bills, which the contractor presents for payment direct, and which are not endorsed in favour of the Bank, while efforts will be made to secure payment to the financing Bank, payments made to the contractor should be accepted as full acquaintance so far as the Government is concerned. As a part of the arrangement, the financing Bank should give the Government a letter to this effect.
- Note 1. The procedure will not affect the usual rights of the Government to deduct from contractor's bill, (whether endorsed in favour of a Bank or not) any sum due to Government of account of penalties, over-payments etc., on this or any other contract with the Governor of the State of West Bengal.
- Note 2. Nothing contained herein shall operate to create in favour of the Bank any rights claims or equities vis-à-vis the Governor.

Stores supplied by Government

Clause 10. If the specification or estimate of the work provides for use of any special description of material to be supplied by the Engineer-in-Charge, (such materials & stores and the prices to be charged there for as hereinafter mentioned being so far as practicable for the convenience of the contractor, but not so as in any way to control the meaning or effect of this contract specified in the schedule or 'Memorandum' hereto annexed), the contractor shall be supplied with such materials and stores as is required from time to time to be used by him/her for the purpose of the contract only, and the value of the full quantity of materials and stores so supplied at the rates specified in the said schedule or Memorandum may be set off or deducted from any sums then due, or thereafter to become due to the contractor under the contract, or otherwise or against or from the security deposit, or the proceeds of sale thereof; if the same is held in Government securities, the same or a sufficient portion thereof being in this case sold for the purpose. All materials supplied to the contractor shall remain the absolute property of Government, and shall not on any account be removed from the site of the work, and shall at all times be open for inspection by the Engineer-in-charge. Any such material unused and in perfectly good condition at the time of the completion or determination of the contract shall be returned to the Engineer-in-charge's store, if by a notice in writing under his/her hand, he/she shall so require; but the contractor shall not be entitled to return any such material unless with such consent, and shall have no claim for compensation on account of any such material so supplied to him/her as aforesaid being unused by him, or for any wastage or damage to any such material.

Clause 11. The contractor shall execute the whole and every part of work in the most substantial and workman like manner, and both, as regards to materials and otherwise, in every respect, in strict accordance with the specifications. The contractor shall also confirm exactly, fully and faithfully to the design and drawings, and instructions in writing relating to the work signed by the Engineer-in-Charge and lodged in his/her office, to which the contractor shall be entitled to have access at such office, or on the site of the work for the purpose of inspection during office hours, and the contractor shall, if he/she so require, be entitled at his/her own expense to make or cause to be made copies of the specifications, and of all such design, drawings and instructions as aforesaid.

Alteration in specification and designs do not invalidate contract

Extension of time in consequence of alterations

Rates for works not in tender BOQ/SoR Clause 12. The Engineer-in-Charge shall have powers to make any alteration in, omission from, addition to, or substitution for, the original specifications, drawings, designs and instructions, that may appear to him/her to be necessary or recommended by Superintending Engineer or the Chief Engineer during the progress of work, and the contractor shall be at all times be bound to carry out these works, in accordance to any instructions which may be given to him/her in writing, signed by the Engineer-incharge, and such alterations omissions, additions or substitutions, shall not invalidate the contract but shall be deemed to have formed a part of the work included in the original tender and any altered, additional or substituted work which the contractor may be directed to do in the manner specified above as a part of the work shall be carried out by the contractor on the same conditions in all respects on which he/she agreed to do the main work, and at the same rates, if any, may be specified in the tender for the main work. Time for the completion of the work shall be extended in the proportion that the altered, additional or substituted work bears to the original work contract, and the certificate of the Engineer-in-charge shall be conclusive as to such proportion. And, if the altered, additional or substituted work includes any class of work, for which no rate is specified in the contract, then such class of work shall be carried out at the rates entered in the schedule of rates of concerned works Department applicable in the district, which was in force at the time of acceptance of the contract, minus/plus the percentage which the total tendered amount bears to the estimated cost of the entire work put to tender; and if the altered, additional or substituted work is not entered in the said schedule of rates, payment thereof shall be made by the Engineer-in-charge by determining the rates on analysis worked out from (a) the basic rates of materials and labour provided in the aforesaid schedule of rates, or (b) the current market rates of materials and labour when even basic rates for the work are not available in the schedule. In cases when such rates are determined on analysis by the Engineer-in-charge under (a) above, the stipulated percentage above or below schedule of rates as provided in the contract shall also apply, and in case of rates worked out on analysis under (b) above, payment shall be made at the rates so determined without application of the said stipulated percentage. In the event of any dispute regarding rates determined on analysis for any altered, additional or substituted work under this clause, the decision of the Superintending-Engineer shall be final and binding.

Clause 12A. In the case of any altered additional or substituted work, which the contractor is required under the preceding clause 12 to do, at rates specified in the tender for the main work, or on the basis of rates in the schedule of rates of the district and which involve employment of additional materials (notwithstanding anything contrary to the preceding clause), the contract may, within fifteen days from the receipt of the order, claim revision of the rates in respect of such additional materials and the Engineer-in-Charge may revise such rates having regard to the increase in the market price of such materials. In the event of a dispute the decision of the Tender Accepting Authority shall be final and binding and this contract shall be construed as if the said revised rates for the said additional materials had been incorporated in this contract as being applicable to such work.

No compensation for alternation in or restriction of work to be carried out.

Clause 13. If at any time after the commencement of the work the Governor shall for any reason whatsoever not require the whole thereof as specified in the tender to be carried out, the Engineer-in-charge shall give notice in writing of the fact to the contractor, who shall have no claim to any payment or compensation whatsoever on account of any profit or advantage which he might have derived from execution of the work in full, but which he/she did not derive in consequence of the full amount of the work not having been carried out; neither shall he/she have any claim for compensation by reason of any alterations having been made in the original specifications, drawings, designs and

instructions which shall involve any curtailment of the work as originally contemplated.

Action and compensation payable in case of bad work Clause 14. If it shall appear to the Engineer-in-charge or his/her subordinate engineer in-charge of the work, that any work has been executed with unsound, imperfect, or unskillful workmanship, or with materials of any inferior description, or that any materials or articles provided by him, for the execution of the work are unsound, or of a quality inferior to that contracted for, or otherwise not in accordance with the contract, the contractor shall on demand in writing from the Engineer-in-charge specifying the work, materials or articles complained of notwithstanding that the same may have been inadvertently passed, certified and paid for, forthwith rectify or remove and reconstruct the work so specified in whole or in part, as the case may require, or as the case may be removed the materials or articles so specified and provide other proper and suitable materials or articles at his own proper charge and cost; and in the event of his failing to do so within a period to be specified by the Engineer-in-charge in his demand aforesaid, then the contractor shall be liable to pay compensation at the rate of one percent on the amount of the estimate put to tender/on up to date executed work value for every day not exceeding ten days, while his/her failure to do so shall continue and in the case of any such failure, the Engineer-in-charge may rectify or remove, and reexecute the work or remove and replace with others, the materials or articles complained of as the case may be at the risk and expense in all respects of the contractor.

Work to be open to inspection

Contractor or his/her responsible agent to be present

> Notice to be given before work is covered up

Contractor liable for damage done and for imperfections for 180 days after certificate Clause 15. All work under or in course of execution or executed in pursuance of the contract shall at all times be open to inspection and supervision of the Engineer-in-charge and all his/her subordinates and also Superintending Engineer and the Chief Engineer and the contractor shall at all times during the normal working hours, and at all other times at which reasonable notice of the intention of the Engineer-in-charge or his/her subordinates to visit the work site shall have been given to the contractor, either himself/herself be present to receive orders and instructions, or have a responsible agent duly accredited in writing present for that purpose. Orders given to the contractor's agent shall be considered to have the same force as if it had been given to the contractor himself/herself.

Clause 16. The contractor shall give, not less than five days notice in writing to the Engineer-in-charge or his/her subordinate in-charge of the work, before covering up or otherwise placing beyond the reach of measurement any work, in order that the same is so covered up or placed beyond the reach of measurement, and shall not cover up or placed beyond the reach of measurement any work without the consent in writing of the Engineer-in-charge or his/her subordinate, in-charge of the work; and if any work shall be covered up or placed beyond the reach of measurement without such notice having been given or consent obtained the same shall be uncovered at the contractor's expense, or, in default thereof no payment or allowance shall be made for such work or the materials with which the same was executed.

Clause 17. If the contractor or his/her workers or authorized representatives shall break, deface, injure or destroy any part of the structure in which they may be working or any building, road, road curbs, fence, canals, water pipes, cables, drains, electric or telephone posts or wires, trees, grass or grassland or cultivated ground contiguous to the premises on which the work or any part of it is being executed, or if any damage shall happen to the work from any cause whatever or any imperfections become apparent in it at any time, whether during its execution or within a period of six months after issuance of a certificate of its completion by the Engineer-in-Charge, the contractor shall make the same good at his/her own expense, or in default, the Engineer-in-Charge may cause the same to be made good by other workers, and deduct the expenses (of which the certificate of the Engineer-in-Charge shall be final and binding) from any sums, whether under the contract or otherwise, that may be then, or at any time thereafter become due to the contractor by the Government or from his/her security deposit, or the proceeds of sale thereof, or of a sufficient portion thereof, and if the cost in the opinion of the Engineer-in-Charge whose opinion shall be final and conclusive against the contractor, making such damage or imperfections good shall exceed the amount of such security deposit and/or such sums, it shall be lawful for the Government to recover the excess costs from the contractor in accordance with the procedure prescribed by any law for the time being in force.

Clause 18A. In every case in which by virtue of the provisions under sub-section (1) of Section 12, of the Workmen's Compensation Act, 1923, the implementing Department is obliged to pay compensation to a workman employed by the contractor, in execution of

the works. The implementing Department will recover from the contractor the amount of compensation so paid; and without prejudice to the rights of the Department under subsection (2) of section 12, of the said Act, implementing Department shall be at liberty to recover such amount or any part thereof by deducting it from the security deposit or from any sum due by implementing Department to the contractor whether under this contract or otherwise. The implementing Department shall not be bound to contest any claim made against it under sub-section (1) Section 12, of the said Act, except on the written request of the contractor and upon his/her giving to the implementing Department full security for all costs for which the Department might become liable in consequence of contesting such claims.

Clause 18B. In every case in which by virtue of the provisions under 'The Contract Labour (Regulation & Abolition) Act 1970', and its amendments and rules, the implementing Department is obliged to pay amount of wages to a workman employed by the contractor in execution of the works, or to incur any expenditure in providing welfare and health amenities required to be provided under the above said Act and the rules framed by Government from time to time for the protection of health and sanitary arrangements for workers employed by contractors, executing Department will recover from the contractor, the amount of wages so paid or the amount of expenditure so uncured; and without prejudice to the rights of the executing Department under subsection(2) of Section 20, and sub-section (4) of Section 21, of the Contract Labour (Regulation and Abolition) Act, 1970, executing Department shall be at liberty to recover such amount or any part thereof by deducting it form the security deposit or from any sum due by Executing Department to the contractor whether under this contract or otherwise and the executing Department shall not be bound to contest any claim made against it under sub-section (1) of Section 20, sub-section (4) of section 21, of the said Act, except on the written request of the contactor and upon his/her giving to the implementing Department full security for all costs for which the Department might become liable in contesting such claim.

Clause 19. The contractor shall obtain a valid license under the Contract Labour (Regulation and Abolition) Act, 1970, before the commencement of the work, and continue to have valid licenses until the completion of the work. The contractor shall also abide by the provisions of the Child Labour (Prohibition and Regulation) Act, 1986, Fatal Accident Act, 1855, personal injuries (Compensation Insurance) Act, 1970.

The contractor shall also comply with the provisions of the 'Building and Other Construction Workers (Regulation of Employment & Conditions of Service) Act, 1996' and 'The Building and Other Construction Workers Welfare Cess Act, 1996'. Failure to fulfill these requirements shall attract penal provisions of the contract, arising out of the resultant non-implementation of such provisions.

Clause 19A. No labour/s below the age of eighteen years shall be employed in the work and the contractor shall abide by the provisions of the Child Labour (Prohibition & Regulation) Act, 1986 Employment of female labour/s in works in the neighborhoods of sensitive barracks should be avoided as far as possible.

Clause 19B. The contractor shall pay to labours employed by him/her either directly or through sub-contractors, wages not less than fair wages as defined in by the Labour Commissioner of the State Government under 'Minimum Wages Act, 1948', Contractor's Labour Regulations or as per the provisions of the Contract Labour (Regulation and Abolition) Act, 1970, wherever applicable.

The contractor shall, notwithstanding the provisions of any contract to the contrary, cause to be paid fair wage to labour indirectly engaged on the work, including any labour engaged by his sub-contractors in connection with the said work, as if the labour had been immediately employed by him/her.

In respect of all labourers directly or indirectly employed in the works for performance of the contractor's part of the contract, the contractor shall comply with or cause to be complied with the contractor's Labour Regulations made by the State Government/ Government of India, from time to time in regard to payment of wages, wage period, deductions from wages, recovery of wages not paid and deductions made without authority, maintenance of wage books or wage slips, publication of scale of wage and other terms of employment, inspection and submission of periodical returns and all other matter likewise in nature or as per the provisions of the Contract Labour (Regulation and Abolition) Act, 1970, and the inter-State Migrant Workmen (Regulation

Labour

Payment of minimum Wages to Labour of Employment and Conditions of Service) Act, 1979, Minimum Wages Act, 1948, wherever applicable.

- a) The Engineer-in-Charge concerned shall have the right to deduct from the money due to the contractor any sum required or estimated to be required for making good the loss suffered by a worker or workers by reason of non-fulfillment of the conditions of the contract for the benefit of the workers, non-payment of wages or of deductions made from his/her/their wages which are not justified by their terms of the contract or non-observance of the regulations.
- b) Under the provision of Weekly Holidays Act, 1986, the contractor is bound to allow to the labours, directly or indirectly employed in the work, one day rest for 6 days of continuous work, and pay wages at the same rate as for duty. In the event of default, the Engineer-in-charge shall have the right to deduct the sum or sums not paid on account of wages for weekly holidays to any labourm and pay the same to the persons entitled thereto from any money due to the contractor by the Engineer-in-charge concerned.

The contractor shall also comply with the provisions of the 'Employees Liability Act, 2008', Workmen's Compensation Act and 'Maternity Benefits Act' or the amendments thereof or any other law relating thereto, and the rules made there under from time to time.

The Contractor shall indemnify and keep indemnified the implementing Department against payments to be made under and for the observance of the laws aforesaid and PW Contractor's Labour Regulations without prejudice to this right to claim indemnity from his/her sub-contractors.

The laws aforesaid shall be deemed to be a part of this contract and any breach thereof shall be deemed to be a breach of this contract.

Whatever is the minimum wage for the time being, or if the wage payable is higher than minimum wage, such wage shall be paid by the contractor to the workers directly without the intervention of any Dafadar, and that Dafadar shall not be entitled to deduct or recover any amount from the minimum wage payable to the workers as and by way of commission or otherwise.

The contractor shall ensure that no amount by way of commission or otherwise is deducted or recovered by the Dafadar from the wage of workers.

Clause 19C. In respect of all labours directly or indirectly employed in the work for the performance of the contractor's part of this contract, the contractor shall at his/her own expenses, arrange for the safety provisions as framed from time to time by the competent authority, and shall at his/her own expense provide all facilities in connection therewith. In case the contractor fails to make arrangement, and fail to provide necessary facilities as aforesaid; he/she shall be liable to pay a penalty of Rs.200/- for each default, and in addition the Engineer-in-Charge shall be at liberty to make arrangement and provide facilities as aforesaid and recover the costs incurred in their behalf, from the contractor.

Clause 19D. The Contractor shall submit by the 4th and 19th of every month to the Engineer-in-charge, a true statement showing in respect of the second half of the preceding month and the first half of the current month respectively.

The number of labourers employed by him/her on the work, their working hours, and the wages paid to them;

Accidents that had occurred during the said fortnight showing the circumstances under which it had happened, and the extent of damage and injury caused by them, and the number of female workers who have been allowed maternity benefits according to Clause 19F of the contract and the amount paid to them;

Failing which the contractor shall be liable to pay to the Department, a sum not exceeding Rs. 200/- for each default or materially incorrect statement. The decision of the Engineer-in-charge shall be final in deducting from any bill due to the contractor; the amount levied as fine and would be binding on the contractor.

Clause 19E. In respect of all labours directly or indirectly employed in the work for the performance of the contractor's part of this contract, the contractor shall comply with or cause to be compiled with all the rules framed by the appropriate Government from time to time for the protection of health and sanitary arrangements of workers employed by the contractor.

Clause 19F. In the event of the contractor(s) committing a default or breach of any of the provisions of the Contractor's Labour Regulations and Rules for the protection of health and sanitary arrangement for the workers as amended from time to time or furnishing any information or submitting or filing any statement under the provisions of the above Regulations and Rules which is materially incorrect, he/she shall, without prejudice to any other liability, pay to the Department a sum not exceeding Rs. 200/for every default, breach or furnishing, making, submitting, filing such materially incorrect statements and in the event of the contractors defaulting continuously in this respect, the penalty may be enhanced to Rs. 200/-per day for each day of default subject to a maximum of five per cent of the tendered value. The decision of the Engineer-in-charge shall be final and binding on the parties.

Should it appear to the Engineer-in-charge that the contractor(s) is/are not properly observing and complying to the provisions of the Contractor's Labour Regulations and Rules, The Minimum Wages Act, 1948 and Contract Labour (Regulation and Abolition) Act 1970, for the protection of health and sanitary arrangements for work-people employed by the contractor(s) (hereinafter referred as 'the said Rules') the Engineer-incharge shall have power to give notice in writing to the contractor(s) requiring that the said Rules be complied with and the amenities prescribed therein be provided to the work-people within a reasonable time to be specified in the notice. If the contractor(s) shall fail within the period specified in the notice to comply with and / observe the said Rules and to provide the amenities to the work-people as aforesaid, the Engineer-incharge shall have the power to provide the amenities herein before mentioned at the cost of the contractor(s). The contractor(s) shall erect, make and maintain at his/her own expense and to approved standards all necessary hutments and sanitary arrangements required for his / her / their work-people on the site in connection with the execution of the works, and if the same shall not have been erected or constructed, according to approved standards, the Engineer-in-charge shall have power to give notice in writing to the contractor(s) requiring that the said hutments and sanitary arrangements be remodeled and/or reconstruct such hutments and sanitary arrangements according to approved standards, and if the contractor(s) shall fail to remodel or reconstruct such hutments and sanitary arrangements according to approved standards within the period specified in the notice, the Engineer-in-charge shall have the power to remodel or reconstruct such hutments and sanitary arrangements according to approved standards at the cost of the contractor(s).

Clause 19G. The contractor shall comply with all the provisions of The Minimum Wages Act, 1948, Contract Labour (Regulation and Abolition) Act, 1970, Employees Liability Act, Industrial Dispute Act and Maternity Benefit Act, 1961, as amended from time to time and rules framed there under and other labour laws affecting contract labour that may be brought into force by the appropriate authority from time to time.

Clause 19H. The Engineer-in-charge may require the contractor to remove from the site of work; any person or persons engaged/assigned or employed by the contractors upon the work who may be determined as insane or incompetent or misconducts himself/herself, and the contractor shall forthwith comply with such requirements.

Clause 19I. It shall be the responsibility of the contractor to see that the building/structure under construction is not occupied by anybody unauthorized during construction, and is handed over to the Engineer-in-charge with vacant possession free from encumbrances in entirety, If such buildings/structures through completed is occupied illegally, then the Engineer-in-Charge shall have the option to refuse to accept the said building/structure in that position. Any delay in acceptance on this account will be treated as the delay in completion and for such delay a levy up to 5% of tendered value of work may be imposed by the Engineer-in-charge whose decision shall be final both with regard to the justification and quantum and shall be binding on the contractor.

However, the Engineer-in-charge, thorough a notice, may require the contractor to remove the illegal occupations, any time on or before construction and delivery.

Clause 20. No work shall be done on Sundays without the prior sanction of the Engineer-in-charge.

Clause 21. The contract shall not be assigned or sublet without specific orders from Government in respect of a specified sub-contractor. And if the contractor shall assign or sublet his contract, or attempt so to do, or become insolvent or commence

Work on Sundays

Work not to be sublet. Contract may be rescinded and security deposit forfeited for subletting, bribing, or if contractor becomes insolvent Sum payable as compensation to be considered as reasonable without reference to actual

Changes in constitution of firm

Works to be under direction of Engineer-in-Charge

Settlement of disputes-'Dispute Redressal Committee' any in insolvency proceedings or make any composition with his creditor, or attempt to do so, or if any bribe, gratuity, gift, loan, perquisite, reward or advantage, pecuniary or otherwise, shall either directly or indirectly be given, promised, or offered by the contractor, or any of his servants or agents to any public officer or person in the employ of Government in any way relating to his office of employment, or if any such officer or person shall become in any way directly or indirectly interested in the contract, the Divisional Officer may thereupon by notice in writing rescind the contract, and the security deposit of the contractor shall thereupon stand forfeited and be absolutely at the disposal of Government and the same consequences shall ensure as if the contract had been rescind under the Clause 3 hereof, and in addition the contractor shall not be entitled to recover or be paid for any work therefore actually performed under the contract.

Clause 22. All sums payable by way of compensation under any of these conditions shall be considered as reasonable compensation to be applied to the use of Government without reference to the actual loss or damage sustained and whether or not any damage shall have been sustained.

Clause 23. Where the contractor is a partnership firm or a consortium, prior approval in writing of the Engineer-in-Charge shall be obtained for any change made in the the constitution of the firm/consortium. Where the contractor is an individual or a Hindu Undivided Family (HUF) business concern, such approval as aforesaid shall likewise be obtained, before the contractor enters into any partnership agreement/Memorandum of Articles where under the partnership firm/ consortium would have the right to carry out the works hereby undertaken by the contractor. If previous approval as aforesaid is not obtained, the contract is liable to be rescind.

Clause 24. All works to be executed under the contract shall be executed under the direction of Engineer-in-Charge. Further instructions/advises, if felt necessary by Superintending Engineer/ Chief Engineer, shall also be binding to be communicated by the Engineer-in-Charge.

Clause 25. Settlement of Disputes and Arbitration:

Except where otherwise provided in the contract, all questions and disputes relating to the meaning of the specifications, designs, drawings and instructions hereinbefore mentioned and as to the quality of workmanship or materials used on the work or as to any other question, claim, right, matter or thing whatsoever, in any way arising out of relating to the contracts, designs, drawings, specifications, estimates, instructions, orders or these conditions or otherwise concerning the works, or the executions or failure to execute the same, whether arising during the progress of the work, or after the completion or abandonment thereof shall be dealt with as mentioned hereinafter:

If the contractor considers any work demanded of him/her to be outside the requirements of the contract, or disputes any drawings, record or decision given in writing by the Engineer-in-Charge or any matter in connection with or arising out of the contract or carrying out of the work to be unacceptable, he/she shall promptly within 15 days request the Chairman of the Departmental Dispute Redressal Committee formed by Government, in writing for written instruction or decision. Thereupon, the Dispute Redressal Committee shall give its written instructions or decision within a period of three months from the date of receipt of the contractor's letter.

Above provisions will be applicable irrespective of the value of the works to which the dispute may relate.

Clause 26. The contractor shall fully indemnify and keep indemnified the implementing Department against any action, claim or proceeding relating to infringement or use of any patent or design or any alleged patent or design rights and shall pay any royalties which may be payable in respect of any article or part thereof included in the contract. In the event of any claims made under or action brought against implementing Department in respect of any such matters as aforesaid, the contractor shall be immediately notified thereof implementing Department and the contractor shall be at liberty, at his/her own expense, to settle any dispute or to conduct any litigation that may arise there from, provided that the contractor shall not be liable to indemnify the implementing Department if the infringement of the patent or design or any alleged patent or design right is the direct result of an order passed by the Engineer-in-Charge this behalf.

Clause 27. When the estimate on which the tender is made includes lump sums in

Lump sum as in estimates

respect of parts of the work, the contractor shall be entitled to payment in respect of the items of works involved or the part of the work in question at the same rates as are payable under this contract for such items, or if the part of the work in question is not, in the opinion of the Engineer-in-charge capable of measurement, certificate in writing of the Engineer-in-charge shall be final and conclusive against the contractor with regard to any sum or sums payable to him under the provisions of this clause.

Action where no specification

Clause 28. In the case of any class of work for which there is no such specifications as referred to under Clause 11, such work shall be carried out in accordance with the latest Bureau of Indian Standards (BIS) & specifications. In case there are no such specifications in Bureau of Indian Standards, the work shall be carried out as per reputed manufacturer's specifications if accepted by the Engineer-in-Charge. If not available, then as per State- Government/Union Government accepted and approved specifications. In case there are no such specifications as required above, the work shall be carried out in all respects in accordance with the instructions and requirements of the Engineer-in-Charge which is approved by the Tender Accepting Authority.

Definition of works

Clause 29. The expression "works" or "work" where used in these conditions shall, unless there be something either in the subject or context repugnant to such construction be constructed and taken to mean the works by or by virtue of the contract constructed to be executed, whether temporary or permanent and whether original, altered, substituted or additional.

Clause 30. The contractor(s) shall at his/their own cost provide his/their labour with hutting on an approved site, and shall make arrangements for conservancy and sanitation in the labour camp to the satisfaction of the local public Health and Medical Authorities. He/they shall also at his/their own cost make arrangements for the laying of pipe lines for water supply to his / their labour camp from the existing mains wherever available, and shall pay all fees, charges and expenses in connection with there and incidental thereto.

Clause 31. The contractor(s) shall make his / their own arrangements for water required for the work and nothing extra will be paid for the same. This will be subject to the following conditions:-

- i) That the water used by the contractor(s) shall be fit for construction purposes to the satisfaction of the Engineer-in-charge.
- ii) The Engineer-in-Charge shall make alternative arrangements for supply of water at the risk and cost of contractor(s) if the arrangements made by the contractor(s) for procurement of water are in the opinion of the Engineer-in- Charge, unsatisfactory.

Clause 32. The contractor undertakes to make arrangement for the supervision of the work by the firm supplying the bitumen used. The contractor shall collect the total quantity of bitumen required for the work as per standard formula, before the work is started and shall hypothecate it to the Engineer-in-Charge. If any bitumen remains unused on completion of the work on account of lesser use of materials in actual execution for reasons other than authorized changes of specifications and abandonment of portion of work, a corresponding deduction equivalent to the cost of unused materials as determined by the Engineer-in-Charge shall be made and the material returned to the contractors. Although the materials are hypothecated to Institute, the contractor undertakes the responsibility for their proper watch, safe custody and protection against all risks. The materials shall not be removed from site of work without the consent of the Engineer-in-Charge in writing.

The contractor shall be responsible for rectifying defects noticed within a year from the date of completion of the work and the portion of the security deposit relating to asphaltic work shall be refunded after the expiry of this period.

Clause 33. The contractor shall provide all necessary superintendence during execution of the work and as along thereafter as may be necessary for proper fulfilling of the obligations under the contract.

Contractors Superintendence, Supervision, Technical Staff & Employees

The contractor shall immediately after receiving letter of acceptance of the tender and before commencement of the work, intimate in writing to the Engineer-in-Charge, the name(s), qualifications, experience, age, address(s) and other particulars along with certificates, of the principal technical representative to be in charge of the work and other technical representative(s) who will be supervising the work. The Engineer-in-Charge shall within 3 days of receipt of such communication intimate in writing his/her

approval or otherwise of such representative(s) to the contractor. Any such approval may at any time be withdrawn and incase of such withdrawal, the contractor shall appoint another such representative(s) according to the provisions of this clause. Decision of the tender accepting authority shall be final and binding on the contractor in this respect. Such a principal technical representative shall be appointed by the contractor soon after receipt of the approval from Engineer-in-Charge and shall be available at site before start of work.

If the contractor (or any partner in case of firm/company) who himself/herself has such qualifications, it will not be necessary for the said contractor to appoint such a principal technical representative but the contractor shall designate and appoint a responsible agent to represent him and to be present at the work whenever the contractor is not in a position to be so present. All the provisions applicable to the principal technical representative under the clause will also be applicable in such a case to contractor or his responsible agent. The principal technical representative and/or the contractor shall on receiving reasonable notice from the Engineer-in-Charge or his designated representative(s) in charge of the work in writing or in person or otherwise, present himself/herself to the Engineer-in-Charge and/or at the site of work, as required, to take instructions. Instructions given to the principal technical representative of responsible agent shall be deemed to have the same force as if these have been given to the contractor. The principal technical representative and/or the contractor or his/her responsible authorized agent shall be actually available at site especially during important stages of execution of work, during recording of measurement of works and whenever so required by the Engineer-in-Charge by a notice as aforesaid and shall also note down instructions conveyed by the Engineer-in-Charge or his/her designated representative in the site order book and shall affix his signature in token of noting down the instructions and in token of acceptance of measurements.

If the Engineer-in-Charge, whose decision in this respect is final and binding on the contractor, is convinced that no such technical representative(s) is / are effectively appointed or is / are effectively attending or fulfilling the provision of this clause, a recovery (nonrefundable) shall be effected from the contractor as specified in Schedule and the decision of the Engineer-in-Charge as recorded in the site order book and measurement recorded checked / test checked in Measurement Books shall be final and binding on the contractor. Further if the contractor fails to appoint a suitable technical representative and / or other technical representative(s) and if such appointed persons are not effectively present are absent by more than two days without duly approved substitute or do not discharge their responsibilities satisfactorily, the Engineer-in-Charge shall have full powers to suspend the execution of the work until such date as suitable other technical representative(s) is / are appointed and the contractor shall be held responsible for the delay so caused to the work. The contractor shall submit a certificate of employment of the technical representative(s) along with every running account bill/final bill and shall produce evidence if at any time so required by the Engineer-in-Charge.

The contractor shall provide and employ on the site only such technical assistants as are skilled and experienced in their respective fields and such foremen and supervisory staff as are competent to give proper supervision to the work.

The contractor shall provide and employ skilled, semiskilled and unskilled labour as is necessary for proper and timely execution of the work.

The Engineer-in-Charge shall be at liberty to object to and require the contractor to remove from the works any person who in his opinion misconducts himself, or is incompetent or negligent in the performance of his duties or whose employment is otherwise considered by the Engineer-in-Charge to be undesirable. Such person shall not be employed again at works site without the written permission of the Engineer-in-Charge and the persons so removed shall be replaced as soon as possible by competent substitutes.

Clause 34. "Levy / Taxes Payable by Contractor"

- Sales tax including VAT, Building and other Construction Workers' Welfare Cess or any other tax or Cess in respect of this contract shall be payable by the Contractor and Engineer-in-Charge shall not entertain any claim whatsoever in this respect. However in respect of Service Tax, same shall be paid by the contractor on demand and it will be reimbursed to him/ her if admissible under relevant rules of appropriate Government by the Engineer-in-charge after satisfying that it has been actually and genuinely paid by the contractor.
- ii) The contractor shall deposit Govt. Royalty and obtain necessary permit for

supply of the sand, stone chips, red bajri, sand stone, river bed materials etc. from local authorities, if those are directly procured from quarry sites.

In case materials are procured from secondary sources, certificates of quarry owners to the effect of payment of royalties and Cess would have to be furnished. In absence of such certificates towards payment of Royalties and Cess such components shall be deducted from the contractor's bills at prescribed rates and deposited through 'GRIPS' portal or otherwise, in the designated Govt. Treasuries/PAO.

If pursuant to or under any law, notification or order any Royalty, Cess or the like becomes payable by the implementing Department and does not any time become payable by the contractor to the State Government/Local appropriate authorities in respect of any material used by the contractor in the works then in such a case, it shall be lawful to the Department and it will have the right and be entitled to recover the amount paid in the circumstances as aforesaid from dues of the contractor.

Clause 35.

- i) All tendered rates shall be inclusive of statutory taxes and levies (Except Service tax) payable under respective statutes. However, if any further tax or cess is imposed by Statute, after the last stipulated date for the receipt of tender including extensions if any and the contractor thereupon necessarily and properly pays such taxes/levies /cess, the contractor shall be reimbursed the amount so paid. Provided such payments, if any, is not, in the opinion of the Engineer-in-charge (whose decision shall be final and binding on the contractor) attributable to delay in execution of work within the control of the contractor.
- ii) The contractor shall keep necessary books of accounts and other documents for the purpose of this condition as may be necessary and shall allow inspection of the same by a duly authorized representative of the Department and/or the Engineer-in-Charge and further shall furnish such other information/document as the Engineer-in-Charge may require from time to time.
- iii) The contractor shall, within a period of 30 days of the imposition of any such further tax or levy or excess, give a written notice thereof to the Engineer-in-Charge that the same is given pursuant to this condition, together with all necessary information relating thereto.
- **Clause 36.** Without prejudice to any of the rights or remedies under this contract if the contractor dies, the Engineer-in-charge shall have the option of terminating the contract without compensation to the contractor, but would be liable to clear full dues and claims on work done to his/her legal successor/s.
- Clause 37. The contractor shall not be permitted to tender for works in which his near relative is posted as in any capacity between the grades of the Executive Engineer and Junior Engineer (both inclusive). He shall also intimate the names of persons who are working with him/her in any capacity or are subsequently employed by him/her and who are near relatives to any Official in the Institute. Any breach of this condition by the contractor would render him/her liable to be removed from the approved list of contractors of the Department. If however the contractor is registered in any other Department, he/she shall be debarred from tendering in the Department for any breach of this condition.

NOTE: By the term "near relatives" is meant wife, husband, own parents and grandparents, own children and grandchildren, own brothers and sisters, own uncles, aunts and first cousins and their corresponding in-laws.

- **Clause 38.** No engineer of Gazette rank or other Gazette officer employed in engineering or administrative duties in the Government shall work as a contractor or employee of a contractor for a period of one year after his/her retirement from Government service without the previous permission of Government in writing. This contract is liable to be cancelled if either the contractor or any of his employees is found at any time to be such a person who had not obtained the permission of Government as aforesaid, before submission of the tender or engagement in the contractor's service, as the case may be.
- **Clause 39**. The work (whether fully constructed or not) and all materials, machines, tools and plants, scaffolding, temporary buildings and other things connected therewith shall be at the risk of the contractor until the work has been delivered to the Engineer-in-Charge and a certificate from him/her to that effect obtained. In the event of the work or any materials properly brought to the site for incorporation in the work being damaged or destroyed in consequence of hostilities or warlike operation, the contractor

shall when ordered (in writing) by the Engineer-in-Charge to remove any debris from the site, collect and properly stack or remove in store all serviceable materials salvaged from the damaged work and shall be paid at the contract rates in accordance with the provision of this agreement for the work of clearing the site of debris, stacking or removal of serviceable material and for reconstruction of all works ordered by the Engineer-in-Charge, such payments being in addition to compensation up to the value of the work originally executed before being damaged or destroyed and not paid for. In case of works damaged or destroyed but not already measured and paid for, the compensation shall be assessed by the Engineer-in-Charge concerned. The contractor shall be paid for the damages/destruction suffered and for the restoring the material at the rate based on analysis of rates tendered for in accordance with the provision of the-contract. The certificate of the Engineer-in-Charge regarding the quality and quantity of materials and the purpose for which they were collected shall be final and binding on all parties to this contract.

Provided always that no compensation shall be payable for any loss in consequence of hostilities or warlike operations (a) unless the contractor had taken all such precautions against air raid as are deemed necessary by the Air Force Officers or the Engineer-in-Charge (b) for any material etc. not on the site of the work or for any tools, plant, machinery, scaffolding, temporary building and other things not intended for the work

In the event of the contractor having to carry out reconstruction as aforesaid, he/she shall be allowed such extension of time for its completion as is considered reasonable by the Engineer-in-charge.

Clause 40. The contractor shall comply with the provisions of the Apprentices Act, 1961 and the Apprenticeship Rules, 1992 and orders issued there under from time to time. If he/she fails to do so, his/her failure will be a breach of the contract and the Engineer-in-Charge may, in his/her discretion, cancel the contract. The contractor shall also be liable for any pecuniary liability arising on account of any violation by him/her of the provisions of the said Act.

INTERPRETATION OF CLAUSES

Governor means the Governor of the State of West Bengal and his/her successors.

The Government means Government in the concerned works Department.

The Department means the Principal Secretary the concerned Department or his/her authorized representative.

The Divisional Officer means the Executive Engineer of the concerned works Department for the time being of the Division concerned, also identified as the Engineer-in-Charge.

The Sub-divisional Officer means the Assistant Engineer of the concerned works Department for the time being of the Sub-division concerned. Junior Engineer equivalent to Section Officer of the Section concerned.

Superintending Engineer in the concerned works Department is the final Authority regarding schedule of rates and also the acceptance of Non-scheduled item rates arrived by market based rate analysis for supplementary items, and the approving authority for reduced rates and part rates. He is also the Tender Accepting Authority for works of value above Rs 45.00 lakh and up to Rs 2.00 crore under existing delegated power.

Chief Engineer in the concerned works Department is the technical head of the Directorate and is also the Tender Accepting Authority and for all works above value of Rs 2.00 crore. Excess work over individual items comprising the original tender may be exceeded beyond 10% with the approval of concerned tender accepting authority and verified by the Superintending Engineer/Chief Engineer subject to the total value of work upon completion is within the technically sanctioned cost and that there is no major deviation from original scope of work in the tender. Any supplementary tender/item/work in connection with the main tender is to be taken up with the approval of the Tender Accepting Authority not below the rank of Executive Engineer. Such supplementary tenders above 10% of BOQ are to be executed only with

the approval of appropriate Government irrespective of the value of tender.

Words importing the singular number only include the plural number and vice versa.

Irrespective of the accepting authority, Divisional officer shall be the authority signing agreement for all tenders of value more than Rs 3.00 lakh up to any amount on behalf of the State.

Schedule showing (approximately) to be supplied by the Irrigation & Waterways Department under clauses 10 and 26 fix work contracted to be executed and the rates at which they are to be charged for.

Particulars		ich the mate d to the cont	Place of delivery	
	Unit	Rs.	P.	

Note 1- The person or firm submitting the tender should see that the rates in the above schedule are filled up by the Engineer-in-charge on the issue of the form prior to the submission of the tender.

(Name in full)
*Signature of contractor/agency
with official seal containing
Principal office address

(Name in full)
*Signature of <u>Divisional Engineer/</u>
<u>Sub-Divisional Officer</u>
on behalf of the Governor of the
State of West Bengal with official seal
containing designation & address

^{*} To be authenticated on each and every page of the contract document by all parties.

Additional Rules of Contract

- 1. Executive Engineer of the concerned Division will be the Engineer-in-Charge in respect of the tender contract and all correspondences concerning rates, claims, change in specifications and/or design and similar important matters will be valid only if accepted/recommended by the Engineer-in-Charge. If any correspondence of above tender is made with Officers other than the Engineer-in-charge for speedy execution of works, the same will not be valid unless copies are sent to the Engineer-in-Charge and also approved by him. Instructions given by the Sub-Divisional Officer/Assistant Engineer and the Junior Engineer/Section Officer (SAE) on behalf of the Engineer-in-Charge shall also be valid (who have been authorized to carry out the work on behalf of the Engineer-in-Charge) regarding specification, supervision, approval of materials and workmanship. In case of dispute relating to specification and work, the decision of Engineer-in-Charge shall be final and binding. The Engineer-in-Charge will however invariably take decisions relating to tender contract or as mentioned in the relevant rules and clauses of the contract document with the approval of the Tender Accepting Authority.
- 2. Acceptance of the tender including the right to distribute the work between two or amongst more than two bidders will rest with the Tender Accepting Authority without assigning reason thereof to the bidder. The accepting authority reserves the right to reject any or all tenders without assigning any reason thereof to the bidder/contractor.
- Engineer-in-Charge shall not entertain any claim whatsoever from the contractor for payment of compensation on account of idle labour on such grounds including non-possession of encumbrance free land.
- 4. Engineer-in-Charge shall not be held liable for any compensation due to machines becoming idle or any circumstances including untimely rains, other natural calamities, like strikes etc.
- 5. Imposition of any duty / tax / Octoroi / royalty etc whatsoever of its nature (after work order / commencement and before final completion of the work) is to be borne by the contractor/bidder. Original challan of those materials, which are procured by the bidder, may be asked to be submitted for verification.
- 6. Cess @ 1% of the cost of construction works shall be deducted from the Gross value of all works Bill in terms of Finance Department order. Also it is instructed to register his/her establishment under the Act, with the competent registering Authority, i.e. Assistant Labour Commissioner / Dy. Labour Commissioner of the region. Sales Tax and Income Tax Clearance Certificates should be furnished by the contractor for contract value above Rs 0.50 Lakh.
- 7. No mobilization / secured advance will be allowed unless specified otherwise in the contract.
- 8. VAT/Sales Tax, Service Tax, Cess, Royalty of sand, stone chips, stone metal gravel, boulders, forest product etc, Toll Tax, Income Tax, Ferry Charges and other Local Taxes if any are to be paid by the contractor/bidder. No extra payment will be made as a reimbursement or as compensation for these. The rates of supply and finished work items are inclusive of these taxes and charges.
- 9. All working tools & plants, scaffolding, construction of vats & platforms and arrangement of Labour Campus will have to be arranged by the contractor at his/her own cost.
- 10. The contractor shall supply mazdoors, bamboos, ropes, pegs, flags etc. for laying out the work and for taking and checking measurements for which no extra payment will be made.
- 11. The contractor/bidder should see the site of works and tender documents, drawings etc. before submitting e-tender and satisfy himself/herself regarding the condition and nature of works and ascertain difficulties that might be encountered in executing the work, carrying materials to the site of work, availability of drinking water and other human requirements & security etc. Work on river banks may be interrupted due to a number of unforeseen reasons e.g. sudden rises in water levels, inundation during flood, inaccessibility of working site for carriage of materials. Engineerin Charge may order the contractor to suspend work that may be subjected to damage by climate conditions. No claim will be entertained on this account. There may be variation in alignment, height of embankment or depth of cutting, location of revetment, structures etc. due to change of topography, river condition and local requirements etc. between the preparation and execution of the scheme for which the tendered rate and contract will not stand invalid. The contractor will not be entitled to any claim or extra rate on any of these accounts.

- 12. A machine page numbered Site Order book (with triplicate copy) will have to be maintained at site by the contractor and the same has got to be issued from the Engineer-in-Charge before commencement of work. Instructions given by inspecting officers not below the rank of Assistant Engineer will be recorded in this book and the contractor must note down the action to be taken by him in this connection as quickly as possible.
- 13. The work will have to be completed within the time mentioned in the e-NIT. A suitable work programme based on time allowed for completion of work as per e-NIT is to be submitted by the contractor within 7(seven) days from the date of receipt of work order which should satisfy the time limit of completion. The contractor should inform in writing the name of his authorized representative who are to remain present at site daily during work execution at site within 7 (seven) days from the date of receipt of work order who will receive instructions of the work, sign measurement book, bills and other Govt. papers etc.
- 14. No compensation for idle labour, establishment charge or on other reasons such as variation of price indices etc. will be entertained.
- 15. All possible precautions should be taken for the safety of the people and work force deployed at worksite as per safety rule in force. Contractor will remain responsible for his labour in respect of his liabilities under the Workmen's Compensation Act etc. He must deal with such cases as promptly as possible. Proper road signs as per PWD practice will have to be erected by the contractor at his own cost while operating public thoroughfares.
- 16. The contractor will have to maintain qualified technical employees and/or Apprentices at site as per prevailing Apprentice Act or as stipulated in the contract.
- 17. The contractor will have to accept the work programme as per modifications and priority of work fixed by the Engineer-in-Charge so that most vulnerable reach and/or vulnerable items is completed before impending monsoon or rise in river flood water level or for other suitable reasons.
- 18. Quantities of different items of work mentioned in the tender schedule or in work order are only tentative. In actual work, these may vary considerably. Payment will be made on the basis of works actually done in different items and no claim will be entertained for reduction of quantities in some items or for omission of some items. For execution of quantitative excess in any item beyond 10% or supplementary works, approval of the Superintending Engineer / Chief Engineer / Government in the Irrigation & Waterways Department would be required depending on who so ever be the Tender Accepting Authority, before making such payment.
- 19. In order to cope up with the present system of e-billing, supply of departmental materials is generally not encouraged. However, Departmental materials may be issued to the contractor/bidder to the extent of requirements as assessed and following accounts procedure in the Treasury system of bill payment and in installments as decided by the Engineer-in-Charge. Issue of materials may be of three categories.
 - a) Materials issued directly to the work and subject to recovery.
 - b) Materials issued from departmental go down and subject to recovery.
 - c) Materials issued free of cost.
- 20. Any materials brought to site by the contractor subject to approval of the Engineer-in-Charge. The rejected materials must be removed by the contractor from the site at his own cost within 24 hrs of issue of the order to that effect. The rates in the schedule are inclusive of cost and carriage of all materials to worksite. The materials will have to be supplied in phase with due intimation to the Sub-Divisional Officer/Assistant Engineer concerned in conformity with the progress of the work. For special type of materials, i.e. Geo Synthetic Bags, HDPE Bags, Geo Textile Filter, Geo jute Filter etc. if any, relevant Data Sheet containing the name of the Manufacturers, Test Report etc. will also be submitted in each occasion. Engineer-in-Charge may conduct independent test on the samples drawn randomly before according approval for using the materials at site. In this regard decision of Engineer-in-Charge shall be final and binding.
- 21. For materials under category 19 (a), (b) & (c), the contractor will act as the custodian thereof. The materials will have to be carried from the nearest Departmental go-down to worksite by the contractor at his own cost. The contractor shall remain responsible for the proper storage and safety of the materials. Suitable Go-down/ Store shall have to be made by the contractor at his/her own cost. Penalty charges shall be levied at higher rate for loss, wastage, misuse. Surplus materials of the departmental if any, shall have to be returned to the issuing Go-down or store at the

contractor's cost within the time frame as fixed by Engineer-in-Charge, otherwise, the cost at penal rate will be recovered from the bill. Indent for departmental materials shall be submitted by the contractor to the SDO (AE) at least 7 days in advance of actual requirement. No claim will be entertained for non-issuance of such materials in time but reasonable extension of time will be granted. All materials, whatever be the category thereof, shall be properly stored by the contractor in suitable go downs near the site of work at his own cost & under no circumstances whatsoever shall any material be removed from the site of work without prior written permission of the Engineer-in-Charge. The contractor shall be responsible for any damage or loss of such materials.

- 22. The contractor shall also have to satisfy the Engineer-in-Charge regarding the proper utilization of materials which have been issued departmentally.
- 23. Value of the material, under category (a) & (b) of clause 19, will be recovered from the bills of the contractor in one or successive installments as may be decided by the Engineer-in-Charge.
- 24. Requisite quantity of cement as may be required for the work will be supplied from the nearest Departmental go down if stock permits. The issue rate of cement is shown in the Schedule of materials attached. Any excess consumption of cement by more than 5% over the final consumption statement drawn up as per consumption rate specified in the Schedule will be recovered at a penal rate shown in schedule.
- 25. Reinforcement steel rods/MS sheet piles will be issued when stock permits, from the nearest departmental go-down where such material is available in marketable length. While issuing the same, for any particular work the quantity actually required as per approved drawing shall only be issued. While executing the work, it will be responsibility of the Contractor/bidder as well as the Engineer-in-Charge to get this quantity properly utilized in the work. Cut pieces, if any will not be taken back by the Department. Recovery for the total quantum of steel issued will be made at the issue rate shown in the Schedule below. In case of misuse over +10%, deduction will be made at a penal rate shown in the Schedule below. This whole principle shall apply in case of other M.S materials like sheet piles and structural steel members as well.

For all items of contracts jobs requiring skilled labour the contractor, shall have to employ 70% (Seventy Percent) of skilled labour locally. In case the contractor fails to recruit skilled local labour the contractor shall employ skilled labour locally secured by Government in the manner indicated above. For bridge works, highly technical works of labour the contractor may with the prior permission in writing with the Engineer-in-charge to whom full facts must be placed for such permission, import and employ skilled labour up to 30% (Thirty Percent) of the total requirement. In this case the expression "Imported labour shall mean labour imported primarily from other States and secondarily, from the distant districts of the State of West Bengal." In case where the contactor fails to secure unskilled local labour or to engage imported labour the contractor shall employ labour locally recruited by Government or labour imported by Government at the rate to be decided by the superintending Engineer of the works concerned, whose decision as to the circumstances in which employment of such labour is of mutual advantage to Government and the contractor, will be final and binding on the parties.

SCHEDULE OF MATERIALS TO BE SUPPLIED DEPARTMENTALLY AND THEIR RECOVERY RATES

Name of materials	Issue rate (in `)	Unit	Penalty recovery rate for loss or misuse or wastage	Place of delivery
Cement		MT	2 (Two) times issue rate	Departmental Godown
Reinforcement steel rods, structural steel members, M.S sheet Piles		MT	2 (Two) times issue rate	-do-

26. All queries and disputes arising out of the works tender contract is to be brought to the notice of the Chairman of the 'Department Dispute Redressal Committee' in writing for decision within 15 days.

ADDITIONAL TERMS & CONDITIONS

- 1. Cement found surplus after the completion of a work should be returned to the Sub-divisional Officer, the value of the cement returned of the department will be credited to the contractor, If any contractor is found to have used the surplus cement for his own purpose or otherwise disposed of it without the written consent to the Executive Engineer or the Sub-Divisional Officer (if nominated for the purpose by the Executive Engineer) he may be held guilty of theft. In this connection the provision of clause 10 may be referred to, where it is clearly stated that all materials issued to the contractors shall remain the property of Government.
- 2. The contractor shall have to make his own arrangements for water, both for the work and use by his workers, etc, for road rollers and for all tools and plant, etc., required on the work.
- 3. Contractor will be responsible for the payments of all water charges payable to the Corporation Municipality / Panchayat or any other water works authority including a Government department concerned.
- 4. If the contractors shall desire an extension of the time for completion of the work under clause 5 of the contract, no application for such extension will be entertained if it is not received in sufficient time to allow the Divisional Officer to consider it and the contractor will be responsible for the consequences arising out of his negligence in this respect.
- 5. The contractor will have to leave ducts in walls and floors to run conduit or cables, where necessary, and he will not be entitled to any extra payment on this account.
- 6. Contractors in the course of their work should understand that all materials (e.g. store and other materials) obtained in the work of dismantling excavation, etc., will be considered Government property and will be disposed of to the best advantage of Government.
- 7. Owing to difficulty in obtaining certain materials in the open market due to war, the Government have undertaken to supply materials specified in the schedule of the Tender Notice at rates stated therein. There may be delay in obtaining the materials by the Department and the contractor is, therefore, required to keep himself/herself in touch with the day to day position regarding the supply of materials from the Engineer-in-charge and to so adjust the progress of the work that his labour may not remain idle nor may there be any other claim due to or arising from delay in obtaining the materials. It should be clearly understood that no claim whatsoever shall be entertained by the Department on account of delay in supplying materials.
- 8. No compensation for any damage done by rain or traffic during the execution of the work will be made.
- 9. Whenever a work is carried out in municipal area, electric lights or electric danger signals whenever available shall be provided by the contractors on the barriers as well as paraffin lights. Facilities for the electric connection will be made by this Department but the contractor will bear all the expenses.
- 10. The contractor should quote through rate inclusive of cost of materials and carriage to place of working.
- 11. The contractors should give complete specifications showing the method of execution and the quantity and quality of materials they intend to use per hundred sq. ft. area.
- 12. In cases where water is used by the contractor he will be required to deposit in advance with the Executive Engineer the charges for water which are to be calculated in accordance with the schedule of miscellaneous rates in the Canal Act.
- 13. It must be clearly understood by the contractor that no claim on account of enhanced rates on those already accepted, due to war fluctuations will be entertained during the currency of this contract for the work as per schedule attached to the agreement and the additional work, if any, under Clause 12 of the contract, if such additional work shall consist of items which have already been quoted for, 01, items not quoted for but appearing in District Schedule.
- 14. In the event of emergency the contractor will be required to pay his labour everyday and if this is not done. Government shall make the requisite payments as would have been paid by the contractor and recover the cost from the contractors.

INCONVENIENCE OF THE PUBLIC

15. In cases where the responsibility of dispatch of stores rests with the suppliers but the freight is payable by the purchaser, the supplier should dispatch the stores by the most economical method, using the full wagon load whenever it is possible and economical to do so, failing which the supplier will render himself liable for the whole or part of any avoidable expenditure, caused by such default. The supplier should get in touch with the Purchase Officer concerned and in cases of dispatch of stores which are the property of the Defense Department at the time of dispatch, the supplier may obtain the advice of the "Movement Control Section, Station Staff Officers or the Controller of Suppliers of the stations concerned."

- 16. The contractor(s) shall not deposit material on any site which will seriously inconvenience the public. The Engineer-in-charge may require the contractor(s) to remove any materials, which are considered by him to be a danger or inconvenience to the public or cause them to be removed at the contractor's cost.
- 17. The contractor undertakes to have the site clean, free from rubbish to the satisfaction of the Engineer-in-charge. All surplus materials, rubbish etc. will be removed to the places fixed by the Engineer-in-charge and nothing extra will be paid.
- 18. The contractor shall not allow any rubbish or debris to remain on the premises during or after repairs, but shall remove the same and keep the place neat and tidy during the progress of the work. The Engineer-in-charge may get the site premises cleared of debris etc. And recover the cost from the bill of the contractor, if the latter shows slackness in observing this clause.
- 19. Construction materials brought at site shall not be stacked at random. The contractor shall stack all these materials as directed by the Engineer-in-charge.

(Full Name)
Signature of contractor/Agency

(Full Name)

<u>Signature of Divisional Engineer/</u>

<u>Sub-Divisional Officer</u>

on behalf of the Governor of the

State of West Bengal